Supporting Information: Shen, M.; Driver, T. G. Page 1 of 150

Iron(II) Bromide-Catalyzed Synthesis of Benzimidazoles from Aryl Azides
Meihua Shen and Tom G. Driver*

Department of Chemistry, University of Illinois at Chicago,
845 West Taylor Street, Chicago, Illinois, 60607-7061

Supporting Information

Contents
I. Preparation of 2-azidoanilines...........oouieiuiirtiiir e s-2
II. Preparation of 2-azidoarylimines ...........ovuuieiniiitiett et e e aeeeaaeans s-12
III.  FeBr,-catalyzed synthesis of benzimidazoles from aryl azides..................cooiiiiiiiii . s-13
| S () (3117 s-24
V. 'H and ""C NMR spectra of COMPOUNUS. ...........ueuinirineiieeie e e e eeeanns 5-25

Typical information and materials

'"H NMR and “C NMR spectra were recorded at ambient temperature using Bruker DRX 500 or Varian DRX
300 spectrometers. The data are reported as follows: chemical shift in ppm from internal tetramethylsilane on
the O scale, multiplicity (br = broad, s = singlet, d = doublet, t = triplet, q = quartet, m = multiplet), coupling
constants (Hz) and integration. High resolution mass spectra were acquired on a JEOL GCMate II or Thermo
Finnigan LTQ FT spectrometer, and were obtained by peak matching. Analytical thin layer chromatography
was performed on Sorbent Technologies 0.25 mm extra hard silica gel plates with UV254 fluorescent indicator.
Liquid chromatography was performed using forced flow (flash chromatography) of the indicated solvent
system on Sorbent Technologies 60A (40 — 60 um) mesh silica gel (Si0,). Medium pressure liquid
chromatography (MPLC) was performed using Thomson SINGLE StEP pumps to force flow the indicated
solvent system down columns that had been packed with Sorbent Technologies 60A (40 — 60 ym) mesh silica
gel (Si0,). All reactions were carried out under an atmosphere of nitrogen in glassware, which had been oven-
dried. Unless otherwise noted, all reagents were commercially obtained and, where appropriate, purified prior
to use. Acetonitrile, Methanol, Toluene, THF, Et,O, and CH,Cl, were dried by filtration through alumina
according to the procedure of Grubbs." Metal salts were stored in an MBraun labmaster nitrogen atmosphere
dry box.



Supporting Information: Shen, M.; Driver, T. G. Page 2 of 150

L. Preparation of 2-azidoanilines

A. Typical procedure for the preparation of 2-azidoanilines

The requisite 2-azidoanilines were prepared from 2-nitroanilines following the method reported by Hall and co-

workers (Scheme s1).2
o) o)
NH, ;&[ i }:g >
@ + O —_— N —_—
NO, 4 @[ o)

NO,
s1
0 o)
@N N NH,
o} @[ 0 i :N
NH, N3 N
s2 s3 7
Scheme s1.

2-Phthalimidonitrobenzene (s1).” 13.81 g of phthalic anhydride (100.0 mmol) and 14.81 g of 2-nitroaniline
(100.0 mmol) were melted together in an open flask and heated to 215 °C for 2h, at which time the evolution of
water had ceased. The reaction mixture was allowed to cool somewhat, and 50 mL of glacial acetic acid was
then added. The solution was refluxed to dissolve any phthalimide that had precipitated. After 5 minutes, the
reaction mixture was slowly cooled. The resulting mixture was filtered and the precipitate was washed with
portions of ethyl ether until the filtrate was colorless to provide s1 as a yellow crystalline solid (19.16 g, 72%):
mp 195-196 °C. The spectral data matched that reported by Cul and co-workers:> '"H NMR (CDCl,, 500 MHz):
0 8.19 (d, J = 8.0 Hz, 1H), 7.96-7.98 (m, 2H), 7.78-7.84 (m, 3H), 7.63 (t, J = 8.0 Hz, 1H), 7.54 (d,J = 7.5 Hz,
1H); "C NMR (CDCl,, 125 MHz): § 166.3, 145.7, 134.8, 134.1, 131.8, 130.9, 129.7, 125.8, 125.6, 124.2; IR
(thin film): 1714, 1600, 1523, 1467, 1379, 1344, 781,706 cm™".

2-Phthalimidoaniline (s2)." To a solution of 10.73 g of s1 (40.0 mmol) in 320 mL of acetone was added 32
mL of glacial acetic acid, 32 mL of water and 26.81 g of iron powder (480.0 mmol). The mixture was heated to
reflux. After 8 h, the reaction mixture was cooled and filtered through a pad of Celite. The filtrate was
concentrated in vacuo. The resulting residue was dissolved in 150 mL of acetone, and 200 mL of saturated
solution of sodium carbonate was then added. Filtration afforded s2 as a yellow solid (7.04 g, 74%): mp 184—
184 °C. The spectral data matched that reported by Alkhathlan and co-workers:* '"H NMR (CDCl,, 500 MHz):
0 7.94-7.96 (m, 2H), 7.79-7.81 (m, 2H), 7.24-7.27 (m, 1H), 7.12 (dd, J = 8.0, 1.0 Hz, 1H), 6.88-6.92 (m, 2H),
3.76 (br s, 2H); "C NMR (CDCl,, 125 MHz): § 167.4, 143.4, 134.5, 132.1, 130.2, 129.2, 1239, 1194, 1180,
117.9; IR (thin film): 3379, 1707, 1623, 1503, 1379, 1100, 881, 716 cm™".

2-Phthalimidophenyl azide (s3). 5.96 g of s2 (25.0 mmol) was suspended in 160 mL of glacial acetic acid and
160 mL of water. The mixture was cooled to 0 °C and 2.42 g of NaNO, (35.0 mmol) was added in one portion.
After 3h, the remaining undissolved starting s2 (approximately 0.16 g) was isolated by filtration. To the filtrate,
2.44 g of NaN, (37.5 mmol) was slowly added. During this addition, small portions of ethyl ether were added to
prevent excessive foaming. After 0.5 h, the reaction mixture was filtered to give s3 as a light yellow solid (6.37
g,99%). 'H NMR (CDCl,, 500 MHz): § 7.95-7.96 (m, 2H), 7.79-7.80 (m, 2H), 7.50-7.53 (m, 1H), 7.26-7.33
(m, 3H); "C NMR (CDCl,, 125 MHz): § 166.9, 137.8, 134.4, 131.9, 130.6, 130.5, 125.3, 123.8, 122.5, 119.3;



Supporting Information: Shen, M.; Driver, T. G. Page 3 of 150

IR (thin film): 2117, 2088, 1712, 1501, 1380, 1077, 753, 711 cm™'; HRMS (EI) m / z caled for C,,H,N,O, (M)*
264.0647, found 264.0647.

2-Azidoaniline (7). 5.55 g of s3 (21.0 mmol) was suspended in 14 mL of methanol. To this slurry was added
1.5 mL of hydrazine hydrate (31.5 mmol) in one portion. The resulting reaction mixture was stirred rapidly.
After 20 min, the reaction became very thick. Any lumps were broken up with a spatula. An additional 10 mL
of methanol was added and stirring was continued for 1 h. To the resulting paste, 40 mL of a 1.0 M aqueous
solution of NaOH was added. The mixture was diluted with 30 mL of water and 60 mL of CH,Cl,. The
resulting two phases were separated, and the aqueous phase was extracted with an additional 2 x 30 mL of
CH,Cl,. The combined organic phases were washed with 1 x 30 mL of distilled water and 1 x 30 mL of brine.
The resulting organic phase was dried over Na,SO, and the heterogeneous mixture was filtered. The filtrate
was concentrated in vacuo. Purification of the resulting residue by MPLC (0:100 — 10:90 EtOAc:hexanes)
afforded 7 as a yellow solid (1.76 g, 62%): R; = 0.6 (14:86 EtOAc:hexanes); 'H NMR (CDCl,, 500 MHz): §
7.30 (dd,J=8.0,1.0Hz, 1H),6.97 (td,J=7.7,1.2 Hz, 1H), 6.80 (td, /= 7.7, 1.2 Hz, 1H), 6.70 (dd,J = 7.8, 1.2
Hz, 1H), 3.81 (br s, 2H); °C NMR (CDCl,, 125 MHz): 6 138.0, 125.5,125.1,119.0, 118.3, 115.8; IR (thin film):
3386, 3194, 2132, 1502, 1304, 1262, 822, 746 cm™'; HRMS (EI) m / z caled for CHN, (M)*134.0592, found
134.0594.

B. Substituted 2-azidoaniline syntheses

o ¢© Q ‘
No2
(0] O
N? ; > N5 Q /@ENHZ
S —
eO/(:[NHZo MGOQNs © MeO

10a
Scheme s2.

5-Methoxy-2-phthalimidonitrobenzene (s4). The typical procedure was followed using 7.41 g of phthalic
anhydride (50.0 mmol) and 8.41 g of 4-methoxy-2-nitroaniline (50.0 mmol). Purification by recrystallization
from 25 mL of glacial acetic acid afforded s4 as a yellow crystalline solid (11.80 g, 79%): mp 147-148 °C;'H
NMR (CDCl,, 500 MHz): § 7.94-7.96 (m, 2H), 7.80-7.82 (m, 2H), 7.70 (d, J = 2.5 Hz, 1H), 7.40 (d, J = 8.5 Hz,
1H), 7.26-7.29 (m, 1H), 3.93 (s, 3H); "C NMR (CDCl,, 125 MHz): 6 166.7, 160.1, 146.2, 134.6, 131.93,
131.88,124.0, 120.1, 117.9, 110.8, 56.2; IR (thin film): 1736, 1536, 1509, 1386, 1313, 1244, 1029, 720 cm™';
HRMS (EI) m / z caled for C;5sH; 005N, (M) 298.0590, found 298.0592.

5-Methoxy-2-phthalimidoaniline (s5). The typical procedure was followed using 5.96 g of s4 (20.0 mmol)
and 13.40 g of iron powder (240.0 mmol) in 160 mL of acetone, 16 mL of glacial acetic acid, and 16 mL of
water. Purification by recrystallization from 70 mL of acetone and 100 mL of saturated solution of sodium
carbonate afforded s5 as a yellow solid (3.71 g, 69%): mp 181-182 °C;'H NMR (CDCl,, 500 MHz): & 7.94 (br
s, 2H), 7.78 (br s, 2H), 7.02 (d, J = 8.5 Hz, 1H), 6.46 (d, J = 7.5 Hz, 1H), 6.41 (s, 1H), 3.80 (s, 3H), 3.73 (br s,
2H); "C NMR (CDCl,, 125 MHz): § 167.7, 161.1, 144.5, 134.4,132.1, 130.1, 123.8, 111.0, 105.3, 102.7, 55 4;



Supporting Information: Shen, M.; Driver, T. G. Page 4 of 150

IR (thin film): 3444, 3366, 1715, 1630, 1515, 1385, 1212, 880 cm™'; HRMS (EI) m / z calcd for CysH 205N,
(M)" 268.0848, found 268.0851.

5-Methoxy-2-phthalimidophenyl azide (s6). The typical procedure was followed using 2.68 g of s§ (10.0
mmol), 0.97 g of NaNO, (14.0 mmol) and 0.98 g of NaN;(15.0 mmol) in 60 mL of glacial acetic acid and 60
mL of water. Purification using MPLC (0:100 — 20:80 EtOAc:hexanes) afforded s6 as a light yellow solid (2.94
g, 100%): Ry = 0.5 (16:84 EtOAc:hexanes); '"H NMR (CDCl,, 500 MHz): & 7.93-7.95 (m, 2H), 7.78-7.79 (m,
2H), 7.19 (dd, J = 7.8, 1.2 Hz, 1H), 6.79-6.81 (m, 2H), 3.87 (s, 3H); "C NMR (CDCl;, 125 MHz): § 167.3,
161.3,138.9,134.3,132.0, 131.3,123.8, 115.3, 110.9, 105.2, 55.8; IR (thin film): 2113, 1705, 1511, 1389, 1232,
1078, 881,717 cm™; HRMS (EI) m / z caled for CsH; 903N, (M) 294.0753, found 294.0755.

2-Azido-4-methoxyaniline (10a). The typical procedure was followed using 2.94 g of s6 (10.0 mmol) and 0.7
mL of hydrazine hydrate (15.0 mmol) in 15 mL of methanol. Purification using MPLC (0:100 — 15:85
EtOAc:hexanes) afforded 10a as a yellow solid (1.31 g, 80%): Ry = 0.4 (14:86 EtOAc:hexanes); 'H NMR
(CDCl,, 500 MHz): 8 6.62-6.65 (m, 2H), 6.54-6.57 (m, 1H), 3.76 (s, 3H), 3.52 (br s, 2H); "C NMR (CDCl,,
125 MHz): 6 153.2,131.8,126.1,117.0, 111.2, 104.6, 55.9; IR (thin film): 3404, 3187, 2114, 1509, 1254, 1042,
826, 714 cm™; HRMS (EI) m / z caled for C,H;ON, (M)* 164.0698, found 164.0697.

O (0]
NH,
Ol a0 — oy —
Me N02 /E:[ o)
O Me

NO,

s7
o) o)
N N /@:NH?
Q /E;[
0 0] Me N
Me NH, Me N3 ®
s8 s9

10b
Scheme s3.

5-Methyl-2-phthalimidonitrobenzene (s7)." The typical procedure was followed using 7.41 g of phthalic
anhydride (50.0 mmol) and 7.76 g of 4-methyl-2-nitroaniline (50.0 mmol). Purification by recrystallization
from 25 mL of glacial acetic acid afforded s7 as a yellow crystalline solid (11.50 g, 81%): mp 134—135 °C. The
spectral data matched that reported by Cul and co-workers:> 'H NMR (CDCl,, 500 MHz): § 8.00 (s, 1H), 7.94—-
7.96 (m, 2H), 7.80-7.82 (m, 2H), 7.58 (dt, J = 8.0, 0.5 Hz, 1H), 7.39 (d, J = 8.0 Hz, 1H), 2.51 (s, 3H); "C NMR
(CDCl,, 125 MHz): § 166.6, 145.4, 140.8, 134.8, 134.7, 131.9, 130.7, 126.2, 124.1, 122.9, 21.1; IR (thin film):
1734, 1716, 1533, 1381, 1350, 1226, 1101, 719 cm™.

5-Methyl-2-phthalimidoaniline (s8). The typical procedure was followed using 5.64 g of s7 (20.0 mmol) and
13.40 g of iron powder (240.0 mmol) in 160 mL of acetone, 16 mL of glacial acetic acid and 16 mL of water.
Purification by recrystallization from 70 mL of acetone and 100 mL of saturated solution of sodium carbonate
afforded s8 as a yellow solid (4.01 g, 79%): mp 157-158 °C;'H NMR (CDCl,, 500 MHz): 8 7.93-7.95 (m, 2H),
7.718=7.79 (m, 2H), 7.00 (d, J = 8.0 Hz, 1H), 6.71-6.72 (m, 2H), 3.70 (br s, 2H), 2.32 (s, 3H); "C NMR (CDCl,,
125 MHz): 6 167.5, 143.0, 140.5, 134.4, 132.1, 128.9, 123.8, 1204, 118.4, 115.5, 21.4; IR (thin film): 3421,
3350, 1724, 1512, 1383, 1103, 883, 717 cm™'; HRMS (EI) m / z calcd for C;sH;20,N, (M)' 252.0899, found
252.0899.



Supporting Information: Shen, M.; Driver, T. G. Page 5 of 150

5-Methyl-2-phthalimidophenyl azide (s9). The typical procedure was followed using 2.52 g of s8 (10.0
mmol), 0.97 g of NaNO, (14.0 mmol) and 0.98 g of NaN;(15.0 mmol) in 60 mL of glacial acetic acid and 60
mL of water. Filtration afforded s9 as a yellow solid (2.73 g, 98%): '"H NMR (CDCl,, 500 MHz): & 7.94-7.96
(m, 2H), 7.78-7.80 (m, 2H), 7.17 (d, J = 8.0 Hz, 1H), 7.07-7.11 (m, 1H), 2.44 (s, 3H); "C NMR (CDCl,, 125
MHz): § 167.2, 141.3, 137.4, 134.3, 132.0, 130.2, 126.3, 123.8, 120.0, 119.9, 21.4; IR (thin film): 2112, 1734,
1716, 1514, 1385, 1306, 1105, 717 cm™; HRMS (EI) m / z caled for C;sH;00.N; (M)" 278.0804, found
278.0805.

2-Azido-4-methylaniline (10b).” The typical procedure was followed using 2.18 g of s9 (7.8 mmol) and 0.6
mL of hydrazine hydrate (12.3 mmol) in 15 mL of methanol. Purification using MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10b as an orange oil (0.92 g, 79%): Ry = 0.5 (14:86 EtOAc:hexanes). The spectral
data matched that reported by Novak and co-workers:> '"H NMR (CDCI,, 500 MHz): 8 6.87 (s, 1H), 6.80 (d,J =
8.0 Hz, 1H), 6.62 (dd, J = 8.0, 2.0 Hz, 1H), 3.71 (br s, 2H), 2.30 (s, 3H); "C NMR (CDCl,, 125 MHz): § 135.7,
128.8,126.3,125.0,118.8, 116.1, 20.6; IR (thin film): 3462, 3371, 2110, 1624, 1516, 1306, 1261, 810 cm™".

@5:@ 4 @5@% o

Scheme s4.

5-Fluoro-2-phthalimidonitrobenzene (s10). The typical procedure was followed using 7.41 g of phthalic
anhydride (50.0 mmol) and 8.05 g of 4-fluoro-2-nitroaniline (50.0 mmol). Purification by recrystallization from
40 mL of glacial acetic acid afforded s10 as a brown crystalline solid (9.40 g, 66%): mp 230-231 °C; '"H NMR
(DMSO-d,, 500 MHz): 8 8.21 (dd, J = 8.5, 2.5 Hz, 1H), 8.01-8.04 (m, 2H), 7.95-7.97 (m, 2H), 7.84-7.91 (m,
2H); "C NMR (DMSO-d;, 125 MHz): § 166.5, 161.5 (d, J- = 250.0 Hz), 146.6 (d, J- = 10.0 Hz), 135.9, 133.7
(d, Jo = 8.8 Hz), 131.7, 124.5, 122.4 (d, Jo = 22.5 Hz), 121.7, 114.0 (d, Jo = 27.5 Hz); IR (thin film): 1739,
1537, 1502, 1466, 1383, 1234, 878, 714 cm™'; HRMS (EI) m / z caled for C14H;04N,F (M) 286.0390, found
286.0392.

5-Fluoro-2-phthalimidoaniline (s11). The typical procedure was followed using 2.86 g of s10 (10.0 mmol)
and 6.70 g of iron powder (120.0 mmol) in 80 mL of acetone, 8 mL of glacial acetic acid and 8 mL of water.
Purification by recrystallization from 35 mL of acetone and 50 mL of saturated solution of sodium carbonate
afforded s11 as a brown solid (0.74 g, 29%): mp 182-183 °C;'H NMR (CDCl,, 500 MHz): & 7.94-7.95 (m, 2H),
7.79-7.81 (m, 2H), 7.04-7.07 (m, 1H), 6.56-6.59 (m, 2H), 3.85 (br s, 2H); "C NMR (CDCl,, 125 MHz): §
167.4,163.7 (d, Jo- =245.0 Hz), 145.2 (d, J = 11.2 Hz), 134.6, 131.9, 130.8 (d, J» = 10.0 Hz), 123.9, 113.7,
106.2 (d, Jo = 22.5 Hz), 104.2 (d, Jo = 25.0 Hz); IR (thin film): 3454, 3375, 2125, 1722, 1622, 1513, 1385,
717 cm™; HRMS (EI) m / z caled for C14HoO,N,F (M)*256.0648, found 256.0650.



Supporting Information: Shen, M.; Driver, T. G. Page 6 of 150

5-Fluoro-2-phthalimidophenyl azide (s12). The typical procedure was followed using 0.73 g of s11 (2.8
mmol), 0.28 g of NaNO, (4.0 mmol) and 0.28 g of NaNj, (4.3 mmol) in 20 mL of glacial acetic acid and 20 mL
of water. Filtration afforded crude s12 as a yellow solid (0.62 g, 77%): '"H NMR (CDCl,, 500 MHz): § 7.94—
7.96 (m, 2H), 7.79-7.81 (m, 2H), 7.25-7.28 (m, 1H), 7.02 (dd, J = 8.5, 2.5 Hz, 1H), 6.96-7.00 (m, 1H); °C
NMR (CDCl,, 125 MHz): 8 166.9, 163.4 (d, J = 248.8 Hz), 139.8 (d, J~ = 10.0 Hz), 134.5, 132.1 (d, J =
10.0 Hz), 131.9, 1239, 118.7, 112.6 (d, Jo = 22.5 Hz), 107.0 (d, Jo = 25.0 Hz). This material was used
directly in the next step without further purification.

2-azido-4-fluoroaniline (10c). The typical procedure was followed using 0.62 g of unpurified s12 (2.2 mmol)
and 0.16 mL of hydrazine hydrate (3.3 mmol) in 8 mL of methanol. Purification by MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10c¢ as a red oil (0.32 g, 97%) (Caution 10c is volatile): R, = 0.5 (16:84
EtOAc:hexanes); 'H NMR (CDCl,, 500 MHz): 8 6.77 (dd, J = 8.8, 2.2 Hz, 1H), 6.68 (td, J = 8.5, 2.5 Hz, 1H),
6.60-6.63 (m, 1H), 3.67 (br s, 2H); "C NMR (CDCl,, 125 MHz): § 156.1 (d, J- = 237.5 Hz), 134.3, 126.0 (d,
Jor =88 Hz), 1164 (d, Jor = 8.8 Hz), 112.2 (d, J = 22.5 Hz), 105.6 (d, J» = 25.0 Hz); IR (thin film): 3456,
3373, 2114, 1599, 1510, 1311, 1255, 950 cm™'; HRMS (EI) m / z caled for CH,N,F (M) 152.0498, found

152.0497.
@) 0}
cl NH, ;\jij @
\©: . O . c N
- cry

NO,
s13
o) 0
ci N cl N C'\C[NHZ
Try — ot —
o} o N
NH, N3 8
s14 15 10d

Scheme s5.

4-Chloro-2-phthalimidonitrobenzene (s13). The typical procedure was followed using 7.41 g of phthalic
anhydride (50.0 mmol), and 8.63 g of 5-chloro-2-nitroaniline (50.0 mmol). Purification by recrystallization
from 25 mL of glacial acetic acid afforded s13 as a yellow crystalline solid (5.10 g, 34%): mp 192-193 °C; 'H
NMR (CDCl,, 500 MHz): 6 8.16 (d, J = 8.5 Hz, 1H), 7.97-7.99 (m, 2H), 7.83-7.85 (m, 2H), 7.59 (dd, J = 8.8,
2.2 Hz, 1H), 7.55 (d, J = 2.0 Hz, 1H); "C NMR (CDCl,, 125 MHz): § 165.9, 144.0, 140.3, 135.0, 131.7, 131.0,
129.8, 127.0, 126.8, 124.4; IR (thin film): 1727, 1600, 1525, 1347, 1224, 1109, 780, 716 cm™'; HRMS (EI) m /
z caled for C14H7;04N,Cl1 (M) 302.0094, found 302.0091.

4-Chloro-2-phthalimidoaniline (s14). The typical procedure was followed using 4.54 g of s13 (15.0 mmol)
and 10.05 g of iron powder (180.0 mmol) in 120 mL of acetone, 12 mL of glacial acetic acid, and 12 mL of
water. Purification by recrystallization from 50 mL of acetone and 80 mL of saturated solution of sodium
carbonate afforded s14 as a yellow solid (3.77 g, 92%): mp 165-166 °C;'H NMR (CDCl,, 500 MHz): § 7.95-
7.96 (m, 2H), 7.80-7.82 (m, 2H), 7.21 (dd, J = 8.8, 2.2 Hz, 1H), 7.13 (d, J = 2.0 Hz, 1H); 6.82 (d, J = 8.5 Hz,
1H), 3.76 (br s, 2H); "C NMR (CDCl,, 125 MHz): § 166.9, 142.2,134.6 (2C), 131.9, 130.2, 129.0, 124.0, 123.5,
118.7; IR (thin film): 3433, 3360, 1717, 1630, 1496, 1376, 1102, 722 cm™; HRMS (EI) m / z calcd for
C14Hy0,N,C1 (M)"272.0353, found 272.0352.



Supporting Information: Shen, M.; Driver, T. G. Page 7 of 150

4-Chloro-2-phthalimidophenyl azide (s15). The typical procedure was followed using 2.73 g of s14 (10.0
mmol), 0.97 g of NaNO, (14.0 mmol) and 0.98 g of NaN;(15.0 mmol) in 60 mL of glacial acetic acid and 60
mL of water. Filtration afforded s15 as a light yellow solid (2.12 g, 71%): '"H NMR (CDCl,, 500 MHz): & 7.95—
7.97 (m, 2H), 7.80-7.82 (m, 2H), 7.48 (dd, J = 8.8, 2.2 Hz, 1H), 7.31 (d, J/ = 2.0 Hz, 1H); 7.24 (d, J = 9.0 Hz,
1H); "C NMR (CDCls, 125 MHz): § 166.5, 136.7, 134.6 (2C), 131.8, 130.8, 130.3, 124.0, 123.5, 120.3; IR (thin
film): 2131, 2099, 1725, 1492, 1371, 1305, 1111, 717 cm™'; HRMS (EI) m / z caled for C4H;0,N,Cl (M)"
298.0258, found 298.0262.

2-azido-5-chloroaniline (10d). The typical procedure was followed using 1.49 g of s15 (5.0 mmol) and 0.4 mL
of hydrazine hydrate (7.5 mmol) in 5 mL of methanol. Purification by MPLC (0:100 — 10:90 EtOAc:hexanes)
afforded 10d as an orange oil (0.76 g, 91%): Ry= 0.5 (13:87 EtOAc:hexanes); 'H NMR (CDCl,, 500 MHz): &
6.92 (d, J = 8.5 Hz, 1H), 6.74 (dd, J = 8.5, 2.5 Hz, 1H), 6.66 (d, J = 2.5 Hz, 1H), 3.88 (br s, 2H); "C NMR
(CDCl,, 125 MHz): 8§ 139.1, 130.7, 123.8, 119.2, 118.7, 115.4; IR (thin film): 3392, 3299, 2128, 2087, 1494,
1297, 1252, 796 cm™; HRMS (EI) m / z caled for CsH,N,Cl (M)*168.0203, found 168.0205.

0 o)
Me NH,
\C[ . O Me N
— "oy
¢ NO,
s16
o)
° M NH
Me N © 2
Me N \Q - .
0
\©: 0 N3 No
NH,
s18 10e
s17
Scheme s6.

4-Methyl-2-phthalimidonitrobenzene (s16). The typical procedure was followed using 1.30 g of phthalic
anhydride (8.8 mmol) and 1.34 g of 5-methyl-2-nitroaniline (8.8 mmol). Purification by recrystallization from
5 mL of glacial acetic acid afforded s16 as a light yellow crystalline solid (1.02 g, 41%): mp 147-148 °C;'H
NMR (CDCl,, 500 MHz): 8 8.10 (d, J = 8.0 Hz, 1H), 7.94-7.96 (m, 2H), 7.80-7.82 (m, 2H), 7.40 (d, J = 8.5 Hz,
1H), 7.30 (s, 1H), 2.50 (s, 3H); "C NMR (CDCl,, 125 MHz): § 166.5, 145.9, 143.4,134.7,131.9, 131.5, 1304,
125.9,125.5, 124.1, 21.5; IR (thin film): 1724, 1604, 1520, 1371, 1348, 1306, 1105, 719 cm™"; HRMS (EI) m /z
caled for CsHigO4N, (M) 282.0641, found 282.0638.

4-Methyl-2-phthalimidoaniline (s17). The typical procedure was followed using 2.17 g of s16 (7.7 mmol) and
5.13 g of iron powder (92.3 mmol) in 60 mL of acetone, 6 mL of glacial acetic acid, and 6 mL of water.
Purification by recrystallization from 15 mL of acetone and 50 mL of saturated solution of sodium carbonate
afforded crude s17 as a brown solid (0.69 g, 40%): 'H NMR (CDCl,, 500 MHz): & 7.94-7.95 (m, 2H), 7.78—
7.79 (m, 2H), 7.07 (d, J = 8.0 Hz, 1H), 6.94 (s, 1H), 6.80 (d, J = 8.0 Hz, 1H), 3.67 (br s, 2H), 2.84 (s, 3H); °C
NMR (CDCl,;, 125 MHz): & 1674, 140.8, 1344 (2C), 132.1, 131.0, 1294, 1290, 123.8, 118.0, 20.4.
Unpurified s17 was used directly to next step.

4-Methyl-2-phthalimidophenyl azide (s18). The typical procedure was followed using 0.69 g of s17 (2.7
mmol), 0.26 g of NaNO, (3.8 mmol), and 0.26 g of NaN; (4.1 mmol) in 16 mL of glacial acetic acid and 16 mL
of water. Purification using MPLC (0:100 — 20:80 EtOAc:hexanes) afforded s18 as a light yellow solid (0.68 g,



Supporting Information: Shen, M.; Driver, T. G. Page 8 of 150

89%): Ry= 0.5 (14:86 EtOAc:hexanes); 'H NMR (CDCl, 500 MHz): 8 7.92-7.94 (m, 2H), 7.77-7.78 (m, 2H),
7.30 (d, J = 8.0 Hz, 1H), 7.19 (d, J = 8.0 Hz, 1H), 7.10 (s, 1H), 2.37 (s, 3H); °C NMR (CDCl,, 125 MHz): §
167.0, 135.6, 135.0, 134.4, 132.0, 131.5, 131.0, 123.8, 122.3, 119.2, 20.8; IR (thin film): 2129, 2100, 1722,
1502, 1375, 1302, 1109, 717 cm™'; HRMS (EI) m / z caled for C;5H00.N, (M)'278.0804, found 278.0802.

2-azido-5-methylaniline (10e). The typical procedure was followed using 0.67 g of s18 (2.4 mmol) and 0.2
mL of hydrazine hydrate (3.6 mmol) in 10 mL of methanol. Purification using MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10e as a pink solid (0.34 g, 96%): Ry= 0.4 (14:86 EtOAc:hexanes); '"H NMR (CDCl,,
500 MHz): 8 6.93 (d, J = 8.0 Hz, 1H), 6.62 (d, J = 7.5 Hz, 1H), 6.53 (s, 1H), 3.76 (br s, 2H), 2.27 (s, 3H); “C
NMR (CDCl,, 125 MHz): & 137.9, 135.6, 122.5, 1199, 118.2, 116.6, 21.0; IR (thin film): 3388, 2130, 2092,
1633, 1506, 1308, 1273, 798 cm™'; HRMS (EI) m / 7 caled for C;HN, (M)* 148.0749, found 148.0748.

: : :NOZ
o o
Me N Me N Mte:NHZ
TX — TX O
0 9] Me
Me NH, Me N3
20

N3

10f
Scheme s7.

4,5-Dimethyl-2-phthalimidonitrobenzene (s19). The typical procedure was followed using 3.70 g of phthalic
anhydride (25.0 mmol) and 4.28 g of 4,5-dimethyl-2-nitroaniline (25.0 mmol). Purification by recrystallization
from 5 mL of glacial acetic acid afforded s19 as a brown crystalline solid (4.01 g, 54%): mp 158159 °C;'H
NMR (CDCl,, 500 MHz): 6 8.00 (s, 1H), 7.92-7.94 (m, 2H), 7.79-7.80 (m, 2H), 7.24 (s, 1H), 2.39 (s, 3H), 2.38
(s, 3H); "C NMR (CDCl,, 125 MHz): § 166.7, 144.6, 143.2, 139.4, 134.6, 132.0, 131.8, 126.7, 124.1, 1230,
20.0, 19.6; IR (thin film): 1726, 1525, 1408, 1365, 1350, 1248, 1103, 719 cm™'; HRMS (EI) m / z calcd for
Ci6H1204N, (M) 296.0797, found 296.0799.

4,5-Dimethyl-2-phthalimidoaniline (s20). The typical procedure was followed using 2.96 g of s19 (10.0
mmol) and 6.70 g of iron powder (120.0 mmol) in 80 mL of acetone, 8 mL of glacial acetic acid and 8 mL of
water. Purification by recrystallization from 15 mL of acetone and 80 mL of saturated solution of sodium
carbonate afforded s20 as a brown solid (2.09 g, 78%): mp 180-181 °C;'H NMR (CDCl,, 500 MHz): § 7.93—
7.95 (m, 2H), 7.77-7.79 (m, 2H), 6.88 (s, 1H), 6.71 (s, 1H), 3.55 (br s, 2H), 2.22 (s, 3H), 2.18 (s, 3H); "C NMR
(CDCl;, 125 MHz): 6 167.6, 141.0, 139.0, 1344, 132.1, 129.6, 127.8, 123.8, 1194, 115.5, 19.7, 18.8; IR (thin
film): 1708, 1610, 1511, 1381, 1099, 1068, 872, 717 cm™'; HRMS (EI) m / z caled for CisH40,N, (M)"
266.1055, found 266.1057.

4,5-Dimethyl-2-phthalimidophenyl azide (s21). The typical procedure was followed using 1.48 g of s20 (5.5
mmol), 0.54 g of NaNO, (7.8 mmol) and 0.54 g of NaNj, (8.3 mmol) in 30 mL of glacial acetic acid and 30 mL
of water. Filtration afforded s21 as a light brown solid (1.52 g, 94%): '"H NMR (CDCl,, 500 MHz): 8 7.94 (d, J
= 2.5 Hz, 2H), 7.77-7.79 (m, 2H), 7.07 (s, 1H), 7.05 (s, 1H), 2.33 (s, 3H), 2.27 (s, 3H); ""C NMR (CDCl,, 125
MHz): § 167.3, 140.0, 134.8, 134.34, 13428, 132.0, 131.2, 123.8, 1204, 119.8, 19.9, 19.3; IR (thin film): 2112,



Supporting Information: Shen, M.; Driver, T. G. Page 9 of 150

1714, 1508, 1379, 1306, 1105, 872, 723 cm™; HRMS (EI) m / z caled for C16H;20,N4 (M) 292.0960, found
292.0957.

2-azido-4,5-dimethylaniline (10f). The typical procedure was followed using 1.45 g of s21 (5.0 mmol) and 0.4
mL of hydrazine hydrate (7.5 mmol) in 10 mL of methanol. Purification using MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10f as a yellow solid (0.68 g, 84%): Ry = 0.6 (16:84 EtOAc:hexanes); 'H NMR
(CDCl,, 500 MHz): & 6.80 (s, 1H), 6.52 (s, 1H), 3.61 (br s, 2H), 2.19 (s, 3H), 2.17 (s, 3H); "C NMR (CDCl,,
125 MHz): § 135.7,133.9, 127.4,122.5, 1194, 117.4, 19.3, 18.9; IR (thin film): 2117, 2100, 1512, 1448, 1318,
1261, 865,768 cm™'; HRMS (EI) m / z caled for CgH, (N, (M)* 162.0905, found 162.0906.

0 o)
cl NH,
jij: . O ., ¢l N
cl NO, I;[ o
0 cl

NO,
s22
o) o)
cl NH,
L DOy XX
—_— —
5 ! PN

cl NH, cl N3 3

s23 s24

109
Scheme s8.

4,5-Dichloro-2-phthalimidonitrobenzene (s22). The typical procedure was followed using 3.70 g of phthalic
anhydride (25.0 mmol) and 5.39 g of 4,5-dichloro-2-nitroaniline (25.0 mmol). Purification by recrystallization
from 25 mL of glacial acetic acid afforded s22 as a brown crystalline solid (2.36 g, 28%): mp 170-171 °C;'H
NMR (CDCl,, 500 MHz): § 8.31 (s, 1H), 7.97-7.98 (m, 2H), 7.84-7.86 (m, 2H), 7.67 (s, 1H); °C NMR (CDCl,,
125 MHz): & 165.8, 143.8, 138.9, 135.1, 134.1, 132.2, 131.6, 127.5, 124.7, 124.5; IR (thin film): 1726, 1533,
1473, 1394, 1346, 1224, 1105, 717 cm™; HRMS (EI) m / z caled for C14HsO4N>Cl, (M) 335.9705, found
335.9702.

4,5-Dichloro-2-phthalimidoaniline (s23). The typical procedure was followed using 2.18 g of s22 (6.5 mmol)
and 4.33 g of iron powder (78.0 mmol) in 60 mL of acetone, 6 mL of glacial acetic acid, and 6 mL of water.
Purification by recrystallization from 20 mL of acetone and 80 mL of saturated solution of sodium carbonate
afforded s23 as a light brown solid (1.58 g, 80%): mp 222-223 °C;'H NMR (DMSO-d,, 500 MHz): & 7.91 (s,
2H), 7.86 (s, 2H), 7.42 (s, 1H), 6.94 (s, 1H), 5.88 (s, 2H); °C NMR (DMSO-d,, 125 MHz): § 167.6, 147.5,
134.7,133.0, 132.5,132.0, 123.7, 116.2, 115.9, 115.7; IR (thin film): 3348, 1722, 1708, 1626, 1491, 1375, 862,
714 cm™; HRMS (EI) m / z caled for C14H30,N,Cly (M) 305.9963, found 305.9962.

4,5-Dichloro-2-phthalimidophenyl azide (s24). The typical procedure did not work because of the poor
solubility of s23 in acetic acid and water. This azide was obtained following the method reported by Goddard-
Borger and co-workers: ° 1.33 g of imidazole-1-sulfonyl azide hydrochloride (6.3 mmol) was added to 1.30 g of
aniline s23 (4.2 mmol), 1.16 g of K,CO, (8.4 mmol), and 0.16 g of CuSO,-5H,0 (0.63 mmol) in 21 mL of
MeOH and 21 mL of acetone. After 36h, visualization of the reaction progress using thin layer chromatography
revealed only about 50% completion. Nevertheless, the resulting mixture was diluted with 50 mL of water and
50 mL of CH,Cl,. The phases were separated and the resulting aqueous phase was extracted with an additional
2 x 50 mL of CH,Cl,. The combined organic phases were washed with 1 x 30 mL of distilled water and 1 x 30
mL of brine. The resulting organic phase was dried over Na,SO,, and the heterogeneous mixture was filtered.



Supporting Information: Shen, M.; Driver, T. G. Page 10 of 150

The filtrate was concentrated in vacuo. Purification using MPLC (0:100 — 10:90 EtOAc:hexanes) afforded s24
as a yellow solid (0.28 g, 20%): Ry= 0.6 (16:84 EtOAc:hexanes); 'H NMR (CDCl,, 500 MHz): 8 7.95-7.97 (m,
2H), 7.81-7.83 (m, 2H), 7.41 (s, 1H), 7.39 (s, 1H); "C NMR (CDCl,, 125 MHz): § 166.3, 137.6, 134.7 (2C),
132.0, 131.7, 128.9, 124.1, 122.0, 120.9; IR (thin film): 2111, 1713, 1487, 1395, 1294, 1102, 872, 725 cm™’;
HRMS (EI) m /z caled for C14HsO,N4Cly (M)*331.9868, found 331.9871.

2-azido-4, 5-dichlorolaniline (10g). The typical procedure was followed using 0.42 g of s24 (1.3 mmol) and
0.1 mL of hydrazine hydrate (2.0 mmol) in 5 mL of methanol. Purification using MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10g as a light red solid (0.18 g, 71%): Ry = 0.5 (15:85 EtOAc:hexanes); 'H NMR
(CDCl,, 500 MHz): 8 7.04 (s, 1H), 6.74 (s, 1H), 3.82 (br s, 2H); "C NMR (CDCl,, 125 MHz): § 137.7, 128.8,
124.9,121.0,119.5, 116.4; IR (thin film): 2116, 1619, 1491, 1390, 1271, 1242, 1126, 862 cm™'; HRMS (EI) m /

z caled for C(H,N,Cl, (M)"201.9813, found 201.9815.
0, ;:>
Me
Me N
o}

Me e}
Me NH,
+ O
NO,
o] NO,
s25
O (0]
Me Me M Me NH
(0] (0]
N3 Ns
s27 10h

NH,
s26
Scheme s9.

3,4-Dimethyl-2-phthalimidonitrobenzene (s25). The typical procedure was followed using 3.70 g of phthalic
anhydride (25.0 mmol) and 4.28 g of 2,3-dimethyl-6-nitroaniline (25.0 mmol). Purification by recrystallization
from 20 mL of glacial acetic acid afforded s25 as a deep brown crystalline solid (3.61 g, 49%): mp 168-169 °C;
'H NMR (CDCl;, 500 MHz): & 7.95-7.97 (m, 2H), 7.80-7.82 (m, 2H), 7.43 (s, 1H), 7.41 (s, 1H), 2.43 (s, 3H),
2.19 (s, 3H); "C NMR (CDCl;, 125 MHz): § 166.8, 145.1, 144.7, 139.1, 134.7, 132.1, 131.0, 124.5, 124.1,
123.2,21.1, 15.0; IR (thin film): 1720, 1583, 1516, 1468, 1369, 1334, 876,719 cm™'; HRMS (EI) m / z calcd for
Ci6H1204N, (M) 296.0797, found 296.0794.

3,4-Dimethyl-2-phthalimidoaniline (s26). The typical procedure was followed using 2.96 g of s25 (10.0
mmol) and 6.70 g of iron powder (120.0 mmol) in 80 mL of acetone, 8 mL of glacial acetic acid and 8 mL of
water. Purification by recrystallization from 15 mL of acetone and 80 mL of saturated solution of sodium
carbonate afforded s26 as a brown solid (0.96 g, 36%): mp 176-177 °C;'H NMR (CDCl,, 500 MHz): & 7.96 (s,
2H), 7.81 (m, 2H), 7.06 (d, J = 7.0 Hz, 1H), 6.66 (d, J = 7.5 Hz, 1H), 3.47 (br s, 2H), 2.23 (s, 3H), 1.99 (s, 3H);
“C NMR (CDCl,, 125 MHz): § 167.4, 141.7,135.7,134.4,132.0,131.7,127.8, 1239, 117.4,114.4,19.7, 14.8;
IR (thin film): 3373, 1714, 1626, 1494, 1375, 1105, 883, 721 cm™'; HRMS (EI) m / z caled for C1¢H 140N, (M)"
266.1055, found 266.1055.

3,4-Dimethyl-2-phthalimidophenyl azide (s27). The typical procedure was followed using 0.68 g of s26 (2.3
mmol), 0.22 g of NaNO, (3.2 mmol) and 0.23 g of NaN, (3.5 mmol) in 15 mL of glacial acetic acid and 15 mL
of water. Purification using MPLC (0:100 — 11:89 EtOAc:hexanes) afforded s27 as a yellow solid (0.67 g,
100%): Ry= 0.4 (15:85 EtOAc:hexanes); 'H NMR (CDCl;, 500 MHz): 8 7.94-7.96 (m, 2H), 7.78-7.80 (m, 2H),
728 (d,J = 8.5 Hz, 1H), 7.03 (d, J = 8.5 Hz, 1H), 2.30 (s, 3H), 2.08 (s, 3H); "C NMR (CDCl,, 125 MHz): §



Supporting Information: Shen, M.; Driver, T. G. Page 11 of 150

1672, 137.8, 135.6, 134.4 (2C), 132.1, 131.8, 123.9, 121.6, 116.0, 20.1, 14.8; IR (thin film): 2121, 1722, 1485,
1371, 1304, 1107, 885, 721 cm™'; HRMS (EI) m /z caled for C1gH120oN4 (M) 292.0960, found 292.0963.

6-azido-2,3-dimethylaniline (10h). The typical procedure was followed using 0.83 g of s27 (2.8 mmol) and
0.2 mL of hydrazine hydrate (3.4 mmol) in 10 mL of methanol. Purification using MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10h as a pink solid (0.26 g, 57%): R;= 0.5 (14:86 EtOAc:hexanes); '"H NMR (CDCl,,
500 MHz): § 6.86 (d, J = 8.0 Hz, 1H), 6.68 (d, J = 8.0 Hz, 1H), 3.78 (br s, 2H), 2.29 (s, 3H), 2.09 (s, 3H); “°C
NMR (CDCl,, 125 MHz): 6 136.2, 133.6, 1229, 121.9, 120.3, 115.1, 20.3, 13.1; IR (thin film): 2109, 2062,
1460, 1271, 1072, 1020, 849, 788 cm™'; HRMS (EI) m / z caled for CgH (N, (M)* 162.0905, found 162.0907.

Me o) (0]
NH, Me
+ O [N N —
Me NO, 1)
) Me

NO,

s28

ol 0 Me

Me Me NH,
N N - -
o) o) Me N3
Me NH, Me N,
s29 s30 10i
Scheme s10.

3,5-Dimethyl-2-phthalimidonitrobenzene (s28). The typical procedure was followed using 4.46 g of phthalic
anhydride (30.1 mmol) and 5.00 g of 4,6-dimethyl-2-nitroaniline (30.1 mmol). Purification by recrystallization
from 15 mL of glacial acetic acid afforded s28 as a brown crystalline solid (5.55 g, 62%): mp 213-214 °C;'H
NMR (CDCl,, 500 MHz): § 7.95-7.97 (m, 2H), 7.85 (s, 1H), 7.81-7.82 (m, 2H), 7.47 (s, 1H), 2.47 (s, 3H), 2.28
(s, 3H); "C NMR (CDCl,, 125 MHz): § 166.7, 146.5, 140.7, 140.2, 136.7 (2C), 134.6, 132.1, 124.1, 122.1, 21.1,
18.1; IR (thin film): 1728, 1707, 1529, 1375, 1350, 1218, 1103, 715 cm™; HRMS (EI) m / z caled for
Ci6H1204N; (M) 296.0797, found 296.0799.

3,5-Dimethyl-2-phthalimidoaniline (s29). The typical procedure was followed using 2.96 g of s28 (10.0
mmol) and 6.70 g of iron powder (120.0 mmol) in 80 mL of acetone, 8 mL of glacial acetic acid, and 8 mL of
water. Purification by recrystallization from 15 mL of acetone and 80 mL of saturated solution of sodium
carbonate afforded crude s29 as a brown solid (2.58 g, 97%): '"H NMR (CDCl,, 500 MHz): § 7.95 (s, 2H), 7.80
(m, 2H), 6.58 (s, 1H), 6.54 (s, 1H), 3.56 (br s, 2H), 2.27 (s, 3H), 2.06 (s, 3H); °C NMR (CDCl;, 125 MHz): §
167.5, 143.7, 140.3, 137.2, 1344, 132.0, 123.8, 122.0, 115.4, 114.4, 21.3, 18.0. Unpurified s29 was used
directly in the next step.

3,5-Dimethyl-2-phthalimidophenyl azide (s30). The typical procedure was followed using 2.58 g of 29 (9.7
mmol), 0.94 g of NaNO, (13.6 mmol), and 0.94 g of NaN,(14.5 mmol) in 58 mL of glacial acetic acid and 58
mL of water. Purification using MPLC (0:100 — 20:80 EtOAc:hexanes) afforded s30 a pale yellow solid (0.96 g,
34%): Ry = 0.4 (15:85 EtOAc:hexanes); 'H NMR (CDCl,, 500 MHz): & 7.93-7.94 (m, 2H), 7.77-7.78 (m, 2H),
6.944 (s, 1H), 6.938 (s, 1H), 2.37 (s, 3H), 2.16 (s, 3H); "C NMR (CDCl;, 125 MHz): § 167.1, 140.9, 138.9,
137.8,134.4,132.1,127.9,123.8, 119.2, 117.2, 21 .4, 17.8; IR (thin film): 2112, 1732, 1713, 1377, 1317, 1107,
845,717 cm™; HRMS (EI) m / z caled for Ci6H;20,N4 (M)"292.0960, found 292.0956.



Supporting Information: Shen, M.; Driver, T. G. Page 12 of 150

2-azido-4,6-dimethylaniline (10i). The typical procedure was followed using 0.95 g of s30 (3.2 mmol) and 0.2
mL of hydrazine hydrate (3.9 mmol) in 12 mL of methanol. Purification using MPLC (0:100 — 10:90
EtOAc:hexanes) afforded 10i as a yellow solid (0.45 g, 86%): Ry = 0.4 (15:85 EtOAc:hexanes); 'H NMR
(CDCl,, 500 MHz): & 6.79 (s, 1H), 6.74 (s, 1H), 3.68 (br s, 2H), 2.32 (s, 3H), 2.18 (s, 3H); "C NMR (CDCl,,
125 MHz): § 134.0, 128.0, 127.7,124.7, 123.7, 116 .4, 20.6, 17.3; IR (thin film): 3420, 3322, 2114, 1636, 1498,
1318, 1267, 828 cm™'; HRMS (EI) m / z caled for CgH, (N, (M) 162.0905, found 162.0895.

II. Preparation of 2-azidoarylimines

A. Typical procedure for the preparation of 2-azidoarylimines

NO,
NH» OHC N
@ T — ™
NO,

H
N3

5

(E)-2-azido-N-(4-nitrobenzylidene)aniline (5). To a solution of 0.27 g of 2-azidoaniline (7) (2.0 mmol) and
0.31 g of 4-nitrobenzaldehyde (2.0 mmol) in 2 mL of CH,Cl, was added 0.6 g of anhydrous MgSO,. The
mixture was stirred at room temperature. After 36 h, the heterogeneous mixture was filtered. The filtrate was
concentrated in vacuo. The crude product was recrystallized from CH,Cl, and hexanes to afford § as an orange
crystalline solid (0.39 g, 73%): 'H NMR (CDCl,, 500 MHz): § 8.55 (s, 1H), 8.32 (d, J = 8.5 Hz, 2H), 8.08 (d, J
= 9.0 Hz, 2H), 7.24-7.28 (m, 1H), 7.18 (td, J = 7.5, 1.0 Hz, 1H), 7.08-7.12 (m, 2H); "C NMR (CDCl,, 125
MHz): 6 157.7, 1494, 143.1, 141.1, 134.0, 129.7, 128.2, 125.6, 124.0, 120.6, 119.0; IR (thin film): 2122, 2094,
1560, 1520, 1340, 1096, 853, 766 cm™'; HRMS (EI) m / 7 caled for C,;H,0,N, (M)*267.0756, found 267.0755.

B. 2-Azidoarylimine syntheses

CL, T, — @?g

7

(E)-2-azido-N-(4-bromobenzylidene)aniline (8b). The typical procedure was followed using 0.27 g of 2-
azidoaniline (7) (2.0 mmol), 0.37 g of 4-bromobenzaldehyde (2.0 mmol) and 0.6 g of anhydrous MgSO, in 2
mL of CH,Cl,. Purification by recrystallization afforded 8b as a yellow crystalline solid (0.22 g, 36%): 'H
NMR (CDCl,, 500 MHz): & 8.39 (s, 1H), 7.78 (d,J = 8.5 Hz, 2H), 7.61 (d, J = 8.5 Hz, 2H), 7.21 (td,J= 7.6, 1.2
Hz, 1H), 7.15 (td, J = 7.5, 1.5 Hz, 1H), 7.06 (td, J = 7.8, 1.3 Hz, 2H); "“C NMR (CDCl,, 125 MHz): § 159.3,
1439, 134.7, 133.5, 132.1, 1304, 127.2, 126.3, 125.5, 120.4, 119.2; IR (thin film): 2120, 2092, 1624, 1488,
1299, 1068, 820, 751 cm™'; HRMS (EI) m / 7 calced for C,;H,N,Br (M)*300.0010, found 300.0012.



Supporting Information: Shen, M.; Driver, T. G. Page 13 of 150

@NHz OHC N @
N NCD @[NBH CN
7 8
(E)-2-azido-N-(2-cyanobenzylidene)aniline (8j). The typical procedure was followed using 0.13 g of 2-
azidoaniline (7) (1.0 mmol), 0.16 g of 2-cyanobenzaldehyde (1.2 mmol) and 0.3 g of anhydrous MgSQO, in 1 mL
of CH,Cl,. Purification by recrystallization afforded 8j as a yellow crystalline solid (0.24 g, 96%): 'H NMR
(CDCl,, 500 MHz): 6 8.86 (s, 1H), 8.36 (d, J = 8.0 Hz, 1H), 7.00-7.76 (m, 2H), 7.58 (td, J = 7.5, 1.0 Hz, 1H),
7.24-7.28 (m, 1H), 7.14-7.20 (m, 2H), 7.08-7.10 (m, 1H); "C NMR (CDCl,, 125 MHz): § 155.9, 143.0, 137.8,
134.0, 133.1, 133.0, 131.5, 128.2, 127.9, 125.6, 120.5, 119.3, 116.8, 113.6; IR (thin film): 2154, 2121, 1487,
1446, 1350, 1097, 766, 737 cm™'; HRMS (EI) m / 7 caled for C,,H,N5 (M)*247.0858, found 247.0858.

III.  FeBr,-catalyzed synthesis of benzimidazoles from aryl azides

A. General procedure for the screening of catalysts to promote the decomposition of aryl
azides

NO,
©:N\\K©/ metal salt ©:N\ NO
>—< >‘ 2
H

solvent (1.5 M), 16 h H
5 6

To a mixture of 0.021 g of aryl azide 5 (0.078 mmol), metal salt (5-30 mol %) and crushed 4A molecular sieves
(100 wt %) was added 0.05 mL of solvent. After 16 h, the heterogenous mixture was filtered through SiO,.
The filtrate was concentrated in vacuo. The resulting mixture was dissolved in 0.8 mL of DMSO-d, and 0.007
mL of dibromomethane (0.1 mmol) was added. The area of NH peak in benzimidazole 6 was compared with
the area of the peak of dibromomethane to derive a'H NMR yield.



Supporting Information: Shen, M.; Driver, T. G.

Table s1. Optimization of reaction conditions

Page 14 of 150

entry metal salt mol % L(tv/:tll//lj Temp (°C) yield (%)®
1 None n.a. 0 145 89°
24 None n.a. 100 40 0
3¢ None n.a. 100 60 0
4° Rh,(0,CC3F7)4 5 0 60 trace
5°¢ Rh(0,CC3F7)s 5 100 60 36
6° Rh(02CC7H15)s 5 100 60 31
7°¢ Znl, 10 100 60 trace
8° Cu(OTf), 10 100 60 trace
9° AgOTf 5 100 60 5
10° AuCl 5 100 60 trace
11° Pd(PPh3)s 5 100 60 trace
12° Pd(PhCN),Cl, 5 100 60 0
13° Pd(OCOCF3), 5 100 60 0
14° Co(salen)® 5 100 60 28
15° Ni(COD), " 5 100 60 8
16° Fe(FsCOCHCOCF;), 5 100 60 43
17¢ Fe(FsCOCHCOCF;), 30 100 40 60
18¢ Fe(acac)s 30 100 40 40
19¢ Fe(OCOCH;)s 30 100 40 10
20° FeFs 30 100 40 11
21¢ FeCl, 30 100 40 27
22¢ FeBrs 30 100 40 77
23¢ AICl, 30 100 40 53
24¢ BF;°Et,O 30 100 40 trace
25¢ FeCl, 30 100 40 49
26¢ FeBr, 30 100 40 >95
27¢ FeBr, 30 30 40 62
28¢ FeBr, 30 150 40 >959
29¢ FeBr, 10 150 40 55
307 FeBr, 100 150 40 91

 as determined using 'H NMR spectroscopy. ° xylenes was employed as solvent (0.2 M) and after 2
h. °Reaction performed in PhMe. 9 Reaction performed in CH,Cls. ® Salen = (1S,2S)-N,N’-Bis[3-oxo-

2-(2,4,6-trimethylbenzoyl)butylidene]-1,2-diphenylethylenediamine. fcob = 1,5-cyclooctadiene.
Isolated yield after chromatography on SiO, was 91%.

B. Examination of concentration

FeBr, (30 mol %)
4 AMS (150 wt %)

NO,
AT
@ CH,Cl, (Concentration)

40°C, 16 h

as determined by 'H NMR spectroscopy

SO

N
H
6

0.5M >95%
1.0 M >95%

g



Supporting Information: Shen, M.; Driver, T. G. Page 15 of 150

C. Examination of reaction time
NO,  FeBry(30 mol %)
3 N
4 AMS (150 wt %
AT sy (N5,
@[ Y CH,Cl, (1.0 M) H
N3 40 °C, Time
5 6
8h  89%
12h >95%
as determined by 'H NMR spectroscopy
D. Optimized general procedure
7 FeBry(30 mol %) N
N \\I 4 A MS (150 wt %) ©: \>_@
R CH,Cl, (1.0 M) N |
H H R
Ny 40°C, 12 h

To a mixture of 0.080 g of 2-azidoarylimine, FeBr, (30 mol %) and 0.120 g of crushed 4A molecular sieves
(150 wt %) was added CH,Cl, to make a 1.0 M solution. The resulting mixture was heated to 40 °C. After 12
h, the reaction mixture was cooled to room temperature, and the heterogenous mixture was filtered through SiO,.
The filtrate was concentrated in vacuo. Purification using MPLC (0:100 — 2:98 MeOH:CH,Cl,) provided the
benzimidazole as a solid.

E. Benzimidazole synthesis from 2-azidoarylimine
N
CLY-Oe
N
H
6

Benzimidazole (6).” The general procedure was followed with 0.080 g of azide 5 (0.299 mmol), 0.019 g of
FeBr, (0.090 mmol), and 0.120 g of crushed 4A molecular sieves in 0.30 mL of CH,Cl,. Purification by MPLC
(0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 6 as an orange solid (0.066 g, 93%): R, = 0.5 (9:91
MeOH:CH,Cl,); mp 321-322 °C. The spectral data matched that reported by Bellona and co-workers:” 'H
NMR (DMSO-d,, 500 MHz): 6 13.27 (br s, 1H), 8.36-8.41 (m, 4H), 7.70 (br s, 1H), 7.57 (br s, 1H), 7.24 (br s,
2H); "C NMR (DMSO-d,, 125 MHz): 6 149.5, 148.2, 144.3, 136.5, 135.7, 127.8, 124.8, 1240, 122.8, 119.9,
112.3; IR (thin film): 3421, 3296, 1587, 1512, 1338, 852, 744, 708 cm™".

N
@E \>_©7Br
N
H
9b

Benzimidazole (9b).* The general procedure was followed with 0.080 g of azide 8b (0.266 mmol), 0.017 g of
FeBr, (0.080 mmol), and 0.120 g of crushed 4A molecular sieves in 0.27 mL of CH,Cl,. Purification by MPLC
(0:100 — 3:97 MeOH:CH,(Cl,) afforded benzimidazole 9b as a light yellow solid (0.072 g, 99%): R;= 0.4 (9:91
MeOH:CH,Cl,); mp 298-299 °C. The spectral data matched that reported by Itoh and co-workers:®* 'H NMR



Supporting Information: Shen, M.; Driver, T. G. Page 16 of 150

(DMSO-d,, 500 MHz): § 12.97 (br s, 1H), 8.10 (d, J = 8.0 Hz, 2H), 7.74 (d, J = 8.5 Hz, 2H), 7.60 (br s, 2H),
7.20 (br s, 2H); "C NMR (DMSO-d;, 125 MHz): § 150.7, 144.2, 135.5,132.4,129.9, 128.8, 123.7, 123.3, 122.3,
119.4, 111.9; IR (thin film): 3466, 3396, 1639, 1594, 1312, 1274, 1084, 764 cm™".

NC
OO
A\
N
H
9j

Benzimidazole (9j). The general procedure was followed with 0.080 g of azide 8j (0.323 mmol), 0.021 g of
FeBr, (0.097 mmol), and 0.120 g of crushed 4A molecular sieves in 0.32 mL of CH,Cl,. Purification by MPLC
(0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 9j as a light yellow solid (0.065 g, 92%): R, = 0.6 (9:91
MeOH:CH,Cl,); mp 252-253 °C; 'H NMR (DMSO-d,, 500 MHz): § 13.09 (s, 1H), 8.07 (d, J = 8.0 Hz, 1H),
8.02 (d,J=75Hz, 1H),7.87 (t,J =7.5 Hz, 1H),7.73 (d,J=7.5 Hz, 1H), 7.68 (t,J = 7.5 Hz, 1H), 7.58 (d, J =
7.5 Hz, 1H), 7.24-7.28 (m, 2H); "C NMR (DMSO-d,, 125 MHz): § 148.9, 1440, 135.7, 135.3, 133.8, 133.1,
130.6,129.7, 1239, 122.6, 120.0, 118.7, 112.2, 110.6; IR (thin film): 3400, 3368, 1453, 1400, 1283, 1136, 970,
746 cm™'; HRMS (EI) m / z caled for C,H,N; (M)*219.0796, found 219.0796.

F. Optimized two step typical procedure

2. FeBr;, (30 mol %)
NH, ) o
N 4 AMS (150 wt %) N
t oo CH,CI h CH,CI \>_©
(1.2 equiv.) 2Ll 22 N
Na 25°C, 36 h H 40°C. 12 h H
7 2 4

Step 1: To a solution of 0.067 g of 2-azidoaniline 7 (0.50 mmol) and 0.056 mL of benzaldehyde (0.60 mmol) in
0.5 mL of CH,Cl, was added 0.20 g of anhydrous MgSO,. The mixture was stirred at room temperature. After
36 h, the heterogeneous mixture was filtered. The filtrate was concentrated in vacuo. The resulting mixture
was dissolved in 0.6 mL of CDCI; and 0.007 mL of dibromomethane (0.10 mmol) was added. The area of
N=CH peak in 2-azidoarylimine 2 was compared with the area of the peak of dibromomethane to derive a 'H
NMR yield: 93%. The solution was concentrated in vacuo once more to afford crude 2-azidoarylimine 2.

Step 2: To the unpurified product 2,0.032 g of FeBr, (0.15 mmol), 0.167 g of crushed 4A molecular sieves, and
0.50 mL of CH,Cl, was added. The resulting mixture was heated to 40 °C. After 12 h, the reaction mixture was
cooled to room temperature, and the heterogenous mixture was filtered through SiO,. The filtrate was
concentrated in vacuo. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,) provided the benzimidazole 4° as a
white solid (0.084 g, 86%): R, = 0.5 (7:93 MeOH:CH,Cl,); mp 299-300 °C. The spectral data matched that
reported by Sezen and co-workers:” 'H NMR (DMSO-d,, 500 MHz): & 1291 (br s, 1H), 8.17 (d, J = 8.0 Hz,
2H), 7.46-7.58 (m, 5H), 7.18-7.19 (m, 2H); "C NMR (DMSO-d,, 125 MHz): § 151.8, 144.4, 135.5, 130.7,
130.3, 1294, 127.0, 123.0, 122.2, 1194, 111.8; IR (thin film): 3047, 2966, 1462, 1411, 1276, 970, 744,
703 cm™.

Note: (a) When 1.0 equiv of benzaldehyde was employed, 'H NMR yield of step 1 was 81% and the yield of
two steps was only 72%; (b) Without filtration in step 1, the yield of two steps was only 76%.



Supporting Information: Shen, M.; Driver, T. G. Page 17 of 150

G. Benzimidazole synthesis from 2-azidoaniline 7 (two step procedure)
NH2 2 FeBr2 (30 mol %) N
1. MgSO 4 AMS (150 wt %
+ RCHO 954 @ ( ) @: S>—R
(1.2 equiv) CH2C|2 CH,Cl, N
40°C,12h H

9

N
CIOe

N

H

Benzimidazole (9a). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.091
g of 4-nitrobenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to afford 8a (>95%
as determined by '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.200 g of crushed 4A molecular
sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,)
afforded benzimidazole 9a as an orange solid (0.111 g, 93%).

N
\
@EH >—<: :>—Br
9b
Benzimidazole (9b). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.111
g of 4-bromobenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to afford 8b (95%
as determined by 'H NMR spectroscopy. 0.032 g of FeBr, (0.15 mmol) and 0.226 g of crushed 4A molecular
sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 3:97 MeOH:CH,Cl,)
afforded benzimidazole 9b as a light yellow solid (0.128 g, 94%).

N
Ly

N

H

Benzimidazole (9¢). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.100
mL of 4-tert-butylbenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to afford 8c
(89% as determined by 'H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol), and 0.209 g of crushed 4A
molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 1:99
MeOH:CH,Cl,) afforded benzimidazole 9¢ as a white solid (0.061 g, 49%): R, = 0.7 (6:94 MeOH:CH,Cl,); mp
250-251 °C; '"H NMR (DMSO-d,, 500 MHz): & 12.85 (br s, 1H), 8.10 (d, J = 4.5 Hz, 2H), 7.53-7.56 (m, 4H),
7.17 (br s, 2H), 1.29 (s, 9H); "C NMR (DMSO-d,, 125 MHz): § 153.0 (2C), 151.8 (2C), 127.9, 126.7, 126 .2,
122.4 (4C), 35.0, 31.4; IR (thin film): 3560, 2962, 1724, 1589, 1450, 1427, 970, 740 cm™; HRMS (EI) m / z
calcd for C,;H {N, (M)*250.1470, found 250.1469.

N
N
H

Benzimidazole (9d)." The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol),
0.073 mL of 4-methoxybenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to
afford 8d (80% as determined by '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol), and 0.189 g of
crushed 4A molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 —
1:99 MeOH:CH,Cl,) afforded benzimidazole 9d as a white solid (0.041 g, 36%): R, = 0.7 (5:95 MeOH:CH,Cl,);



Supporting Information: Shen, M.; Driver, T. G. Page 18 of 150

mp 224-225 °C. The spectral data matched that reported by Bellina and co-workers:'"* "H NMR (DMSO-d,
500 MHz): 6 12.74 (s, 1H), 8.10-8.12 (m, 2H), 7.60 (d, J = 7.0 Hz, 1H), 7.48 (d, J = 7.0 Hz, 1H), 7.13-7.18 (m,
2H), 7.09 (d, J = 9.0 Hz, 2H), 3.81 (s, 3H); “C NMR (DMSO-d,, 125 MHz): & 161.1, 151.8, 1444, 135.4, 128 5,
123.2, 122.5, 1219, 1190, 114.8, 112.5, 55.8; IR (thin film): 3674, 3345, 1652, 1558, 1419, 1180, 808,

742 cm™.
Cl
-0
\
N
H

Benzimidazole (9e). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.068
mL of 3-chlorobenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl,to afford 8e
(>95% as determined using 'H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol), and 0.192 g of crushed 4A
molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 3:97
MeOH:CH,Cl,) afforded benzimidazole 9e as a light yellow solid (0.093 g, 81%): R, = 0.5 (5:95
MeOH:CH,Cl,); mp 232-233 °C; '"H NMR (DMSO-d,, 500 MHz): § 13.04 (br s, 1H), 8.23 (s, 1H) 8.14(d,J =
7.5 Hz, 1H), 7.61 (br s, 2H), 7.48-7.57 (m, 2H), 7.20-7.22 (m, 2H); "C NMR (DMSO-d,, 125 MHz): § 150.2
(30), 134.3,132.7, 131.4, 130.0, 126.5, 125.5, 122.9 (4C); IR (thin film): 3610, 1558, 1442, 1402, 1228, 1124,
893, 744 cm™'; HRMS (EI) m / z calcd for C,sH,N,CI (M)*228.0454, found 228.0453.

Me
Cr—C)
A\
N
H

Benzimidazole (9f)."' The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.070
mL of 3-methylbenzaldehyde (0.6 mmol) and 0.20 g of anhydrous MgSQO, in 0.5 mL of CH,Cl, to afford 8f
(94% as determined using '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.177 g of crushed 4A
molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 1:99
MeOH:CH,Cl,) afforded benzimidazole 9f as a white solid (0.064 g, 61%): R, = 0.6 (6:94 MeOH:CH,Cl,); mp
219-220 °C. The spectral data matched that reported by Lewis and co- workers ""'"H NMR (DMSO-d,, 500
MHz): § 12.89 (br s, 1H), 8.03 (s, 1H), 7.97 (d, J=7.5 Hz, 1H), 7.59 (br s, 2H), 7.41 (t,J = 7.8 Hz, 1H), 7.27 (d,
J =70 Hz, 1H), 7.18-7.19 (m, 2H), 2.38 (s, 3H); "C NMR (DMSO-d,, 125 MHz): & 151.8 (2C), 138.6 (2C),
130.9, 130.6, 129.3, 127.5, 124.1, 122.5 (4C), 21.5; IR (thin film): 3442, 2873, 1402, 1357, 1274, 1228, 1110,

740 cm™.
cl
N
A\
L0
H ¢l

Benzimidazole (9g). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.105
g of 2,6-dichlorobenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,CI, to afford 8g
(>95% as determined using '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.218 g of crushed 4A
molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 3:97
MeOH:CH,Cl,) afforded benzimidazole 9g as a white solid (0.129 g, 98%): R; = 0.5 (7:93 MeOH:CH,Cl,); mp
275-276 °C; 'H NMR (DMSO-d,, 500 MHz): § 12.90 (br s, 1H), 7.55-7.70 (m 5H), 7.23 (br s, 2H); "C NMR
(DMSO-d,, 125 MHz): § 147.2, 143.7, 135.6, 134.6, 132.8, 131.1, 128.8, 123.2, 122.1, 119.8, 112.1; IR (thin



Supporting Information: Shen, M.; Driver, T. G. Page 19 of 150

film): 3428, 3297, 1587, 1481, 1410, 1265, 1132, 735 cm™'; HRMS (EI) m / z caled for C;HN,Cl, (M)*

262.0065, found 262.0067.
Me
N@
A\
L
H
9h

Benzimidazole (9h)."” The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol),
0.070 mL of 2-methylbenzaldehyde (0.6 mmol) and 0.20 g of anhydrous MgSQO, in 0.5 mL of CH,Cl, to afford
8h (90% as determined using "H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.177 g of crushed 4A
molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 1:99
MeOH:CH,Cl,) afforded benzimidazole 9h as a white solid (0.068 g, 65%): R,= 0.6 (8:92 MeOH:CH,Cl,); mp
213-214 °C. The spectral data matched that reported by Du and co-workers:'> '"H NMR (DMSO-d,, 500 MHz):
0 12.63 (br s, 1H), 7.73 (d, J = 7.0 Hz, 1H), 7.67 (d, J = 7.5 Hz, 1H), 7.51 (d, J = 7.0 Hz, 1H), 7.17-7.21 (m,
3H), 7.17-7.21 (m, 2H), 2.60 (s, 3H); "C NMR (DMSO-d,, 125 MHz): § 152.4, 144.2, 137.5, 134.9, 131.7,
130.6,129.9,129.8, 126.4,122.8,121.9,119.4, 111.7,21.5; IR (thin film): 3544, 1724, 1612, 1442, 1407, 1273,
958,744 cm™.

FsC
)
\
CL,
H
9i
Benzimidazole (9i). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.079
mL of 2-trifluoromethylbenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to
afford 8i (92% as determined using '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.218 g of
crushed 4A molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 —
3:97 MeOH:CH,Cl,) afforded benzimidazole 9i as a white solid (0.121 g, 92%): R, = 0.5 (8:92 MeOH:CH,Cl,);
mp 273-274 °C;'H NMR (DMSO-d;, 500 MHz): 8 12.77 (s, 1H), 7.92 (d, J = 7.5 Hz, 1H), 7.45-7.83 (m, 3H),
7.67 (d,J =7.5Hz, 1H),7.52 (d,J =7.5 Hz, 1H), 7.20-7.25 (m, 2H); "C NMR (DMSO-d,, 125 MHz): § 149.8,
143.9,135.0,132.8, 132.7, 130.8, 130.7, 128.3 (q, J- = 30.0 Hz), 127.1 (d, J- = 7.5 Hz), 124.2 (q, J o = 265.0
Hz), 123.2,122.1,119.6, 112.0; IR (thin film): 2920, 2850, 1493, 1408, 1311, 1121, 1034, 746 cm™; HRMS (EI)
m / z calcd for C,,H,N,F; (M)*262.0718, found 262.0720.

NC
@N@
A\
N
H

9j
Benzimidazole (9j). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.079 g
of 2-cyanobenzaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to afford 8j (>95%
as determined using '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.185 g of crushed 4A
molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 2:98
MeOH:CH,Cl,) afforded benzimidazole 9j as a light yellow solid (0.099 g, 90%).



Supporting Information: Shen, M.; Driver, T. G. Page 20 of 150

Iy~
NN
Ho v
ok

Benzimidazole (9k). The typical procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.096
g of 1-methylindole-2-carboxaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to
afford 8k (78% as determined using '"H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.206 g of
crushed 4A molecular sieves in 0.50 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 —
1:99 MeOH:CH,Cl,) afforded benzimidazole 9Kk as a white solid (0.051 g, 41%): R, = 0.7 (8:92 MeOH:CH,Cl,);
mp 202-203 °C; '"H NMR (DMSO-d,, 500 MHz): § 12.92 (s, 1H), 7.72 (d, J = 7.0 Hz, 1H), 7.66 (d, J = 7.0 Hz,
1H), 7.54 (d, J = 7.0 Hz, 2H), 7.20-7.27 (m, 4H), 7.10-7.12 (m, 1H), 4.30 (s, 3H); ""C NMR (DMSO-d,, 125
MHz): § 146.3, 144.2,139.3, 134.6, 1299, 127.2,123.5, 123.4,122.2, 121.4,120.6,119.4,111.5, 110.8, 104.0,
32.5; IR (thin film): 3027, 2809, 1576, 1402, 1337, 1287, 973, 741 cm™'; HRMS (EI) m / z caled for C,(H,;N,
(M)*247.1110, found 247.1106.

NH N. _PH 2. FeBr, (30 mol %)
N | 2 1. PhCHO (1.2 equiv) [R_/ | S ] 4 AMS (150 wt %) R{IN\>—Ph
S N3 M98(241 CH,Cl, [ X N3H J CH.Cl, ™ N
25 C,36h 40°C,12h H

10 11 12

N
L

N

MeO H

12a
Benzimidazole (12a). The typical procedure was followed with 0.164 g of 2-azido-4-methoxyaniline 10a (1.00
mmol), 0.121 mL of benzaldehyde (1.20 mmol), and 0.40 g of anhydrous MgSO, in 1.0 mL of CH,Cl, to afford
11a [66% as determined using '"H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was used].
0.065 g of FeBr, (0.30 mmol) and 0.378 g of crushed 4A molecular sieves in 1.0 mL of CH,Cl, were used in the
next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 12a as a white solid
(0.126 g, 56%): R, = 0.7 (2:98 MeOH:CH,Cl,); mp 149-150 °C; '"H NMR (DMSO-d,, 500 MHz): & 12.76 (br s,
1H), 8.13 (d, J = 6.5 Hz, 2H), 7.43-7.50 (m, 4H), 7.04 (br s, 1H), 6.82 (d, J = 6.5 Hz, 1H), 3.78 (s, 3H); °C
NMR (DMSO-d,, 125 MHz): 6 156.3, 151.0 (3C), 130.8, 130.0, 1294 (2C), 126.6 (2C), 111.8 (3C), 55.9; IR
(thin film): 3055, 2931, 1630, 1456, 1404, 1269, 1159, 702 cm™'; HRMS (EI) m / z calcd for C,,H,,ON, (M)*

224.0950, found 224.0949.
N
IO,
Me H

12b

Benzimidazole (12b).” The typical procedure was followed with 0.148 g of 2-azido-4-methylaniline 10b (1.00
mmol), 0.121 mL of benzaldehyde (1.20 mmol), and 0.40 g of anhydrous MgSO, in 1.0 mL of CH,Cl, to afford
11b (92% as determined using '"H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was used).
0.065 g of FeBr, (0.30 mmol) and 0.354 g of crushed 4A molecular sieves in 1.0 mL of CH,Cl, were used in the
next step. Purification by MPLC (0:100 — 1:99 MeOH:CH,Cl,) afforded benzimidazole 12b as a white solid
(0.156 g, 75%). Alternatively, the typical procedure was followed with 0.148 g of 2-azido-5-methylaniline 10e
(1.00 mmol), 0.121 mL of benzaldehyde (1.20 mmol) and 0.40 g of anhydrous MgSO, in 1.0 mL of CH,CI, to
afford 11e [>95% as determined using 'H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was
used]. 0.065 g of FeBr, (0.30 mmol) and 0.354 g of crushed 4A molecular sieves in 1.0 mL of CH,Cl, were



Supporting Information: Shen, M.; Driver, T. G. Page 21 of 150

used in next step. Purification by MPLC (0:100 — 1:99 MeOH:CH,Cl,) afforded benzimidazole 12b as a white
solid (0.187 g, 90%): R, = 0.6 (2:98 MeOH:CH,Cl,); mp 243-244 °C. The spectral data matched that reported
by Wang and co- workers " 'H NMR (DMSO-d,, 500 MHz): 6 12.80 (br s, 1H), 8.18 (d, J = 6.5 Hz, 2H), 7.39—
7.51 (m, 5H), 7.00 (d, J = 7.0 Hz, 1H), 2.40 (s, 3H); “"C NMR (DMSO-d,, 125 MHz): § 151.4, 131.8 (3C),
130.8, 130.1, 129.4 (2C), 126.8 (2C), 124.0 (3C), 21.8; IR (thin film): 3265, 1743, 1587, 1442, 1265, 1111, 968,

748 cm™.
N
/©: \>_Ph
E N
H

12¢
Benzimidazole (12¢). The typical procedure was followed with 0.172 g of 2-azido-4-fluoroaniline 10¢ (1.13
mmol), 0.137 mL of benzaldehyde (1.36 mmol) and 0.45 g of anhydrous MgSQO, in 1.1 mL of CH,Cl, to afford
11c [94% as determined using 'H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was used].
0.073 g of FeBr, (0.30 mmol) and 0.407 g of crushed 4A molecular sieves in 1.1 mL of CH,Cl, were used in the
next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 12¢ as a white solid
(0.114 g, 54%): R, = 0.6 (2:98 MeOH:CH,Cl,); mp 242-243 °C; '"H NMR (DMSO-d,, 500 MHz): & 13.06 (br s,
1H), 8.18 (d, J = 7.5 Hz, 2H), 7.45-7.53 (m, 5H), 7.05 (br s, 1H); "C NMR (DMSO-d,, 125 MHz): § 159.2 (d,
Jep =237.5Hz), 153.2 (d, J» = 42.5 Hz), 153.0 (2C), 130.4 (2C), 129.4 (2C), 126.9 (2C), 110.9 (3C); IR (thin
film): 3543, 1587, 1408, 1254, 1144, 1103, 837, 739 cm™; HRMS (EI) m / z calcd for C,;HyN,F (M)*212.0750,

found 212.0754.
Cl N

Ly
N
H

12d
Benzimidazole (12d)."* The typical procedure was followed with 0.168 g of 2-azido-5-chloroaniline 10d (1.00
mmol), 0.121 mL of benzaldehyde (1.20 mmol), and 0.40 g of anhydrous MgSO, in 1.0 mL of CH,Cl, to afford
11d [84% as determined using '"H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was used].
0.065 g of FeBr, (0.30 mmol) and 0.385 g of crushed 4A molecular sieves in 1.0 mL of CH,Cl, were used in the
next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 12d as a light yellow
solid (0.188 g, 82%): R, = 0.6 (3:97 MeOH:CH,Cl,); mp 212-213 °C. The spectral data matched that reported
by Perry and co- workers ' 'TH NMR (DMSO-d,, 500 MHz): 8 13.09 (br s, 1H), 8.17 (d, J = 7.5 Hz, 2H), 7.47-
7.59 (m, 5H), 7.20 (d, J = 8.0 Hz, 1H); "C NMR (DMSO-d,, 125 MHz): § 153.1 (4C), 130.6, 130.2, 129.5 (20),
127.1 (2C), 122.8 (3C); IR (thin film): 3579, 2916, 1583, 1429, 1274, 1103, 806, 690 cm™".

Me N
j@: S—pPh
Me ”
12e

Benzimidazole (12e).” The typical procedure was followed with 0.162 g of 2-azido-4,5-dimethylaniline 10f
(1.00 mmol), 0.121 mL of benzaldehyde (1.20 mmol), and 0.40 g of anhydrous MgSO, in 1.0 mL of CH,Cl, to
afford 11f [>95% as determined using 'H NMR spectroccopy; 0.070 mL of dibromomethane (1.0 mmol) was
used). 0.065 g of FeBr, (0.30 mmol) and 0.375 g of crushed 4A molecular sieves in 1.0 mL of CH,Cl, were
used in the next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 12e as a
pale white solid (0.205 g, 92%): R, = 0.6 (8:92 MeOH:CH,Cl,); mp 253-254 °C. The spectral data matched
that reported by Perry and co- workers " 'H NMR (DMSO-d,, 500 MHz): § 12.66 (s, 1H), 8.15 (d,J = 7.5 Hz,

2H), 7.50 (t, J = 7.5 Hz, 2H), 7.43 (t, J = 7.2 Hz, 2H), 7.29 (br s, 1H), 2.30 (s, 6H); °C NMR (DMSO-d,, 125



Supporting Information: Shen, M.; Driver, T. G. Page 22 of 150

MHz): & 150.8, 143.0, 134.0, 131.6, 131.0, 130.4, 129.9, 129.3, 126.7, 1194, 111.8, 20.5 (2C); IR (thin film):
3362, 1584, 1446, 1398, 1286, 1115, 968, 851 cm™.

Me Me
Me N Me H
N
+
ﬁ > >

N N

H

12g 129’

Benzimidazole (12g). The typical procedure was optimized using 0.111 g of 6-azido-2,3-dimethylaniline 10h
(0.68 mmol), 0.34 mL of benzaldehyde (3.42 mmol), and 0.27 g of anhydrous MgSO, in 0.50 mL of CH,Cl,.
After the reaction, excessive benzaldehyde was removed under reduced pressure (~1 mm Hg) to afford 11g (%
as determined using '"H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was used. Without
excess benzaldehyde, the yield of this step was only 29%. 0.044 g of FeBr, (0.20 mmol) and 0.257 g of crushed
4A molecular sieves in 0.68 mL of CH,Cl, were used in the next step. Purification by MPLC (0:100 — 2:98
MeOH:CH,Cl,) afforded benzimidazole 12g, an inseparable mixture of tautomers (ratio: 48:52), as a white solid
(0.092 g, 60%): R, = 0.7 (8:92 MeOH:CH,Cl,); mp 200-201 °C. One isomer: 'H NMR (DMSO-d,, 500 MHz):
§ 12.69 (br s, 1H), 8.19 (br s, 2H), 7.52 (t, J = 7.5 Hz, 2H), 7.45 (t,J = 7.2 Hz, 1H), 7.23 (br s, 1H), 6.98 (d, J =
8.0 Hz, 1H), 2.48 (s, 3H), 2.31 (s, 3H); °C NMR (DMSO-d;, 125 MHz): & 150.8, 142.1 (4C), 131.0, 130.0 (2C),
129.3 (2C), 126.9, 125.0, 116.1, 19.5, 13.7. The other isomer: '"H NMR (DMSO-d,, 500 MHz): § 12.35 (br s,
1H), 8.19 (br s, 2H), 7.52 (t, J = 7.5 Hz, 2H), 7.45 (t,J = 7.2 Hz, 1H), 7.33 (br s, 1H), 6.98 (d, J = 8.0 Hz, 1H),
2.48 (s, 3H), 2.31 (s, 3H); "C NMR (DMSO-d,, 125 MHz): 8 150.7, 144.5 (4C), 131.0, 130.0 (2C), 129.3 (20),
126.9,124.7,108.3, 19.5, 14.5. 1R (thin film): 3056, 2918, 1706, 1457, 1362, 1311, 1226, 694 cm™"; HRMS (EI)
m / z caled for CsH,N, (M)"222.1157, found 222.1158.

Me

N
S—Ph
Me H

12h
Benzimidazole (12h). The optimized two step typical procedure was followed with 0.162 g of 2-azido-4,6-
dimethylaniline 10i (1.00 mmol), 0.121 mL of benzaldehyde (1.20 mmol), and 0.40 g of anhydrous MgSO, in
1.0 mL of CH,Cl, to afford 11h [91% as determined using 'H NMR spectroscopy; 0.070 mL of
dibromomethane (1.0 mmol) was used). 0.065 g of FeBr, (0.30 mmol) and 0.375 g of crushed 4A molecular
sieves in 1.0 mL of CH,Cl, were used in next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,)
afforded benzimidazole 12h as a white solid (0.146 g, 66%): R, = 0.5 (6:94 MeOH:CH,Cl,); mp 187-188 °C; 'H
NMR (DMSO-d,, 500 MHz): & 12.65 (br s, 1H), 8.21 (d, J = 7 5 Hz, 2H), 7.52 (t,J = 7.5 Hz, 2H), 7.44 (t,J =
7.0 Hz, 1H), 7.19 (br s, 1H), 6.79 (s, 1H), 2.53 (s, 3H), 2.36 (s, 3H); "C NMR (DMSO-d,, 125 MHz): § 150.8,
131.7 (4C), 131.0, 129.9, 129.3 (2C), 126.9 (2C), 124.5 (2C), 21.8, 17.3; IR (thin film): 2972, 2918, 1705, 1455,
1406, 1221, 840, 694 cm™'; HRMS (EI) m / 7 caled for C,sH,,N, (M)*222.1157, found 222.1155.

N H
D\ N
/©:> < > NOz 4+ D NO,
eO N
H MeO N
i 121

Benzimidazole (12i). The typical procedure was followed with 0.164 g of 2-azido-4-methoxyaniline 10a (1.00
mmol), 0.183 g of 4-nitrobenzaldehyde (1.20 mmol) and 0.40 g of anhydrous MgSQO, in 1.0 mL of CH,Cl, 10
afford 11i [>95% as determined using 'H NMR spectroscopy; 0.070 mL of dibromomethane (1.0 mmol) was
used]. 0.065 g of FeBr, (0.30 mmol) and 0.444 g of crushed 4A molecular sieves in 1.0 mL of CH,Cl, were



Supporting Information: Shen, M.; Driver, T. G. Page 23 of 150

used in the next step. Purification by MPLC (0:100 — 2:98 MeOH:CH,Cl,) afforded benzimidazole 12i, an
inseparable mixture of tautomers (ratio: 35/65), as an orange solid (0.266 g, 99%): R, = 0.4 (8:92
MeOH:CH,Cl,); mp 245-246 °C. Major isomer: 'H NMR (DMSO-d,, 500 MHz): & 13.05 (br s, 1H), 8.30 (s,
4H), 7.56 (br s, 1H), 6.97 (br s, 1H), 6.84 (br s, 1H), 3.79 (s, 3H); "C NMR (DMSO-d,, 125 MHz): § 157.3,
148.5, 147.8, 138.9 (2C), 136.6, 127.2 (2C), 124.6 (2C), 120.5, 112.8, 94.7, 55.9. Minor isomer: 'H NMR
(DMSO-d;, 500 MHz): & 13.10 (br s, 1H), 8.30 (s, 4H), 7.42 (br s, 1H), 7.20 (br s, 1H), 6.84 (br s, 1H), 3.79 (s,
3H); "C NMR (DMSO-d,, 125 MHz): § 156.3, 149.5, 145.2, 136.4, 130.2 (2C), 127.4 (2C), 124.6 (2C), 1143,
112.6, 101.7,55.9. IR (thin film): 3534, 1597, 1512, 1423, 1342, 1254, 856, 811 cm™'; HRMS (EI) m / z calcd
for C,,H,,0O;N; (M)*269.0800, found 269.0797.

H. Reactivity of alkyl aldehydes with 2-azidoaniline 7

1. /\/CHO 2. FeBr2 (30 mol %)

NH
” 12 e @ Sy sAMs 0w o g
N3 MgSO4 CH2C|2 CH20|2

25°C,36h 40°C, 12h

7
24%
as determined by
"H NMR spectroscopy

The typical two-step procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50 mmol), 0.081 mL of
hydrocinnamaldehyde (0.6 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl, to afford 81 (24% as
determined by 'H NMR spectroscopy). 0.032 g of FeBr, (0.15 mmol) and 0.209 g of crushed 4A molecular
sieves in 0.50 mL of CH,CIl, were used in the next step. The '"H NMR spectroscopy of crude product did not
reveal any characteristic benzimidazole peaks.

NH, N _Et
MgSO
©i + CHyCHCHO  ----tom @ T
N3 (5 equiv) CH,Cl, Ns
. 25°C, 36 h

<10%
as determined by "H NMR spectroscopy

The optimized, typical step 1 condensation procedure was followed with 0.067 g of 2-azidoaniline 7 (0.50
mmol), 0.018 mL of propionaldehyde (2.5 mmol), and 0.20 g of anhydrous MgSO, in 0.5 mL of CH,Cl,. 'H
NMR spectroscopy of the crude reaction mixture revealed a complex mixture of products consisting of less than
10% of 8m. Further optimization was not performed.



Supporting Information: Shen, M.; Driver, T. G. Page 24 of 150

IVv. References

: Pangborn, A. B.; Giardello, M. A.; Grubbs, R. H.; Rosen, R. K.; Timmers, F. J. Organometallics 1996, 15, 1518-1520
2 Hall, J. H.; Patterson, E. J. Am. Chem. Soc. 1967, 89, 5856-5861.

3 Cul, A.; Daich, A.; Decroix, B.; Sanz, G.; Hijfte, L. V. Tetrahedron 2004, 60, 11029-11040.

4 Alkhathlan, H. A.; Al-Lohedan, H. A. Phosphorous, Sulfur Silicon Relat. Elem. 1991, 61, 367-372.

5 Novak, M; Kahley, M. J.; Lin, J.; Kennedy, S. A.; James, T. G. J. Org. Chem. 1995, 60, 8294-8304.

6 Goddard-Borger, E. D.; Stick, R. V. Org. Lett. 2007, 9, 3797-3800.

7 Bellona, F.; Calandri, C.; Cauteruccio, S.; Rossi, R. Tetrahedron 2007, 63, 1970-1980.

8 Itoh, T; Nagata, K.; Ishikawa, H.; Ohsawa, A. Heterocycles 2004, 63, 2769-2784.

? Sezen, B; Sames, D. J. Am. Chem. Soc. 2003, 125, 5274-5275.

' Bellina, F.; Cauteruccio, S.; Rossi, R. Eur. J. Org. Chem. 2006, 6, 1379-1382.

1 Lewis, J.; Jessica Y., W.; Robert, G., B.; Jonathan A., E. Angew. Chem., Int. Ed. 2006, 118, 1619-1621.
'2Du, L.-H.; Wang, Y .-G. Synthesis 2007, 5, 675-678.

13 Wang, Y.; Sarris, K.; Sauer, D. R.; Djuric, S. W. Tetrahedron Lett. 2006, 47, 4823-4826.

' Perry, R.; Wilson, B. D. J. Org. Chem. 1993, 58, 7016-7021.



anpnrring Information: Shen, M.; Driver T. G

Page 25 of 150

NO—OMMNOTNOITNO—ONOOANONO—OOLNOMNMANOINLNO—O
OOWONNNNOONLNMONMANNN——OOOONNTMMe——<INWOO
N— OO OYSH0 00 WWWMWAONNNOOOOONINAIN

[ce kool e e e e e I D A el o Dt Dl A Dl o Dl o D e Tl A D e D D D e

20
19
12
78

75
29

e e D e o e T Al A o D D

i\“\‘ %///////

1.09

I
1.08

T T T T T
80 79 78 7.7 76 75 7.4

[ o
ppm 8.3 8.2 8.1

| \

Il

\_'_1

|4

smh2-163 'H, 500 MHz CDCl;

)

N
LY
NO,

si

. —

Lrl

2.07 1.09
W
13.24 1.08

\ \ \ \ ‘ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3




Page 26 of 150

Supporting Information: Shen. M.: Driver T
L o ) 7 7 ’

G
<
¥
«
©
©

—145.677

/77305
77.052
—76.796

smh2-163 13C, 125 MHz CDCl4

@)

N
L%
NO,

s

\
220

\
200




anpnrting Information: Shen, M.; Driver T. G

Page 27 of 150

RN RN RNBE RN NN NN NN o = = 55) 560 ~ smh124.003 "H, 500 MHz CDCl,
NN NMNNMNNMANNNMNNSNYNNYNNYNYNYNYNYNYTNYNYNYNYNOO OO O o
| ) \/
“/ ‘\‘ | // O
SN
N
O
NH»
s2
ONO—INMNMNMONNAN WO Tr—0OMOOOLHANIONOM
OONINTN——O DO~ NNLOLD S O A — — — — O 00
YOI O MNMNMNMNMN ANANANANANN e —— 00O
RRRNRRRNNNNNN NRRRNNNRNN G666
| \ / J |
o ey N SP A
| u‘
| |
|
u
|
I ‘
W i
2.08 1.37 1.98
| 2.04 1
‘ \ \ ‘ \ \ \ ‘ \ \
|pom8O 78 76 74 72 70 68
‘\
o o I
2.04 1 2.13
L S
2.08 1.37 1.98
\ \ \ \ ‘ \ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G Page 28 of 150

[ce) IDNLND—<FOMNMOD
3 SETRE2ES i
m - -
g DS hS® smh124.003 '3C, 125 MHz CDCl3
© MNMMANIAN] — — — NINO©
N

J 0

\ \\ H ‘ ““w “‘/ \\‘// N
(0]
NH,

s2

—143.351

\ \
220 200 180 160 140 120 100 80 60 40 20 0




annnrhnn Information: Shen, M.; Driver T. G

Page 29 of 150

b

O NI 0NWONONM
OITANODNHON AN
QQ@QQ@NNNWW ........

I Dl O e Dl A D o e At Al A N A Y

\&////

\_'_1
1.94 3.04
s
1.89 1

smh130 "H, 500 HMz CDCl4

\
ppm 11 10 9 8 7 6




Page 30 0f 150

Supporting Information: Shen. M.: Driver T
L o ) 7 7 ’

G
o)
N
9
©
©
-

—77.259
—77.207
——77.007

T 76.748

—

smh130 3C, 125 MHz CDCl4

\
220 200 180




anpnrting Information: Shen, M.; Driver T. G

Page 31 of 150

OMONOTONODON——MMNNLNOO
LNYT T ———ONOO—OOHONHONWOWO
YOOI NNNTNANINANANN

OMNONOTONDN — —MNNNLNOO
DINTT———ONOO — O NONOO
YNNNRVQOMN MM Y NNNNN
NNNNNNNNNNN NNNNNNN

NNV

— —3.927

smh2-90 "H, >°°MHz CDCl;

o)
\

N
ory
MeO N02

s4

By L
2.09 1 3.18
HoyYH
2.04 1 1.27
\ \ \ \ ‘ \ \ \ \ \
ppm 11 10 9 8 7 4 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Page 32 of 150

— (@) — — 00O HAIM O
- O ™ —MNMN NHSAN ©0 —NO n
N N QR0 O=0 N NP o 13
S S < tee $0~ S NON — smh2-90 '°C, 125 MHz CDClg
© © < MmN NNe—  — NN ©
‘ | L) L] | ©
Vol \ /
‘ ‘ \ ‘\’,"/ ‘\‘ ‘\‘ \\\ //'/ ‘ \
\ |/ | | i N
o | | \/ |
O
MeO N02
s4




anpnrting Information: Shen, M.; Driver T. G

Page 33 0f 150

own oMW <00 N O
< 00 ONO OO o
2N NRR SSS M smh2-91 'H, 500 MHz CDCl,
| ‘ ‘ I ||
| \ ““,“‘ \\ | / | | O
I \
) N
[ :[ 0]
? » 3 NS SRS MeO NH,
o N N QO A
NN ~ NN~ (Y le)¥e) sb5
| ) \u
| \\,// |
Lrl
2.02 0.975
L L L
2 1.07 0.859
\ \ \ \ ‘
ppm 8.0 7.5 7.0 6.5
||
I |
\ |
. . J .
L y L
2.02 0.975 2.87
= ¥ !
2 1.07 0.859 2.05
\ \ | | | ‘ ‘ | | |
ppm 11 10 9 8 7 6 4 2 1 0




Page 34 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

\

smh2-91 13C, 125 MHz CDCl4
0
N

00¥'SS ——

$6.°9L
€50°2L =

v0€LL—

62220l ———
02e'Ss0L ———

982°€2l ——

yeLosL—
020251l ———
/S Pl —

LESPPL —

120719l ——
9297291 ———

O
NH,
s5

MeO

\
180

\
200

\
220




Page 35 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

_™

(@]

o

(@)

N

T

S N \o0
[s2]

S z Z 9

»

-

(qN]

a o)

N [}

< =

£

w

898 —— -
9829
1629
089
20879 —
J5L
RN |
09¢Z—  $089 - ks
22777 — 2089
€827/ — —
88/ L
vers 7 ey
G5 1817\
S6'2 6oL —
1562 0927
2022
€87/
wwﬁw N
b6
N
0v6 L — -
Sv6'Z
Em.m\

3.05

i

ppm 11



Page 36 0f 150

J

anpnrtinn Information: Shen. M.: Driver T. G

N

smh2-92 13C, 125 MHz CDCl4
0

¥84°GS ——

88/°9/ —
b0 2. — —= —
262 L. —

L8L'SOL —

9160LL ———
6EESLL—

G28¢el ——

22 IEl—
SLOZEL—
EEEPEL—

698°8EL

L6219l ——
e L9l —

N3

MeO

sb

\
200

\
220

\
180




anpnrting Information: Shen, M.; Driver T. G Page 37 0f 150

NAN—OMOOOT MO0 N — I

smh2-107 "H, 500 MHz CDCl;

—2.511

o)
\

N
oo ol o D O e AT I Dl D D o o e R R D A Dl ) D o D D M /E:[NOO
k@@&&/ \\//// \\%/ / e s72

i I

\_'_1
1 2.03 0.991
. o~
1.96 1.09

|
]

J M

Yoo
1.96 1.09 3.05
Sy

12.03 0.991

\ \ \ \ ‘ \ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Page 38 of 150

o MNAOINNOOLLIMM
g} NWOWOoOHOOOHOOANM OO N~
LN NMNNOOO——O Al O — LN
o POt Tt —OOF N ® -
O <STFomnonmm AN NNO© —
. L]
AN | \ |/
‘ Y |/ ““ 5‘/ / \|/
‘ \ \\\ ‘H “s/ // \\\/’/
smh2-107 '3C, 125 MHz CDCl4
o)
A\
N
JO M
Me NO2
s7
\
\
\
\
\
\
WA e A O A
\ \ \ \ \ \ \ \ \ \ \ \
220 200 180 160 140 120 100 80 60 40 20 0




Page 39 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

o
®;
[m)]
(@)
N
T
=
o =z (@]
rnau, z Wz K
,m_n (@)
e 0]
o
: :
£
7]
LLE2—
20L€——
8029 —
Al P—
0669
9002 =~
092/ —
1855 80279
mwN.N% ¥2.9—
0669
9002 —
0922 ——
TN
58277\
fers—
0v6 L —
mvm.m\
1567/

N

—

N

2.24

L
2.09

ppm 11




Page 40 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

69€ L —

2189 —

690°22 —

02€2LL—

\

S0S° 291l ———

smh2-108 13C, 125 MHz CDCl4

)

\
N

(0]
NH,
s8

Me

\
180

\
200

\
220




Page 41 of 150

anpnrting Information: Shen, M.; Driver T. G

2.441

smh2-112 "H, 500 MHz CDCl4

)

L L
22 2.09
o y L
2.16 1 3.14

\
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Page 42 of 150
N~
(o]
N
o]

_——77.300
- 77.042
T—76.790

—21.450

smh2-112 13C, 125 MHz CDCl4

O
N\
N
» L%
Me N3
|
s9

\ \ \ \
220 200




anpnrting Information: Shen, M.; Driver T. G

Page 43 of 150

NANONOOOOH—ANMNMNMNMANIWO—
——O0OMMNAN——NONNN T —
ANANN—OOOOOOOHOMHOMHOOOHOD

smh2-100 'H, 500 MHz DMSO-d6

(0]
NANONOOON—ANNNMNNIANONTMOON—STM \
——O0OMMNAN——NONNINT —OONONNOLN T N
ANANN—OOOOOMNAM S 0 60 00 6O 60 00 60 0O
00000000 ONNNNNNNNNNNNNNNN J[:I: )
===\l T
\\\/ i \ s10
| | |
| \
\ |
\
[ |
\ |
\
]
Il
|
\
| \
I
|
’ \—'—1
2.08 2.12
| 1 2.13
\ \ \ ‘ \ \
| ppm 8.2 8.1 8.0 7.9 7.8
|
ML C
RS
2.082.12
Yoy
1 2.13
\ \ \ \ \ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




Supporting Information: Shen. M.: Driver T. G
L o ) 7 7 ’

5

Page 44 of 150

166.536
162.540
——160.543

s10




Page 45 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

smh102 "H, 500 MHz CDCl4
0

088 ¢ ———

NH,

si1

F

1859 —— ——

v65°9—

¢v0’L

ceot
Eo.m\
092°L—

cets
mow.m/

608°2L~
LE6L—r

(9N
- o

SveL—
86"/
¥S6°2

|
&
o
S
LN
I
o
~
£
g J N
Ty %2
- T_

ppm 11




anpnrting Information: Shen, M.; Driver T. G Page 46 of 150
ooown ON OO << — OINNNO
NN — —M OANNS M — MNNHWOLN OONO
N©ON N NORONG  NM—NO —0o
N <A N T —OOm MNOOS S M 13
©WO© T+ mmmmal — 0000 NNG smh102 "°C, 125 MHz CDCl3
] L)) N )
| | VooV \| |/ \|/ 0
| | \ \ \\ \ //
N ooV )/ \
bl V VA \ I/ \/ N
s
F NH
s11
|
|

|

|

|

[
| |

|
|
\ \ \ \ \ \ \ \ \ \ \ \
220 200 180 160 140 120 100 80

60 40 20 0




anpnrting Information: Shen, M.; Driver T. G Page 47 of 150

N—OOONMN——
NINITITOOOHOH
OO NN

smh2-103 "H, 500 MHz CDCl;

(0]
N
Q 3
F N5
s12
N—OOWWANN— —OTOMOTANNANNOWOLNT D
NN TOOOO OMNONIIMMNMANI— OO MNNWOLN
NSO O M M NNANNNOOOONHNNHINHN

I e N D D A I A I\I\QD@ OOOWOW
|

XNV LD

2.06 0.932
: 113 103
‘ | \ \ 2 \ {
ppm80 78 76 74 72 70

\
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Dagp 48 of 150
O—N
[@XqN o\ — QO 00
NN MG
BHD NS smh2-103 3¢, 125 MHz CDCl5
L] \
) \|/ 0
\/ {
| i |/ N
oy
F N3
s12
|
\
|
|
|
| |
| |
WWWWMWWWWMMWWWWWWWWWWWWWW
\ \ \ \ \ \ \ \ \ \ \ \
220 200 180 160 140 120 100 80 60 40 20 0




Page 49 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

o

()

a

o

N

T

= ZN=0 o
o o
w z Z
®)

T

<

P

(N} O
<

£

(7]

s13

2.05

7.5

7.6

7.7

7.9 7.8

8.1 8.0

ppm 8.2

Hooy
1.98 0.989
g
12.05 0.918

v

JUUM ;

ppm 11




Page 50 0f 150
A\

smh2-94 13C, 125 MHz CDCl4
o

¥08'92 —

§S0°.L. —

L0€°2L—

¥06'S9L ——

J

anpnrtinn Information: Shen. M.: Driver T. G

N

Cl

O
NO,
s13

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G

Page 51 of 150

3
7
2
6
7
1
6
00

oINS ——O
GY 5Y0Y OY 00 00 CO O

I D e e D Y Dt T S A D (e e

W
/Y

3.759

smh2-95 "H, 500 MHz CDCl

0
\
Cl N
TS
NH,
otTooN 0w [TeYee) s14
ON—OO oMl NO
AN —— 00 0O
NNNNN NN 1)
| \
N |
| |
\
\
\
\
| |
\—'—1 \—'—1
0.966 1
\ —
\ 0.915
\ ‘ \ \ \ \
bpm 7.3 7.2 7.1 7.0 6.9 6.8
\
M w» Jk\ i
R U !
1.99 0.915 2.16
- Hooy
2.04 0.966 1
\ \ \ \ ‘ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




Page 52 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

@)

smh2-95 13C, 125 MHz CDCl4
Cl

€64°9L —

280722 —

v0€LL—

12699l ——

NH,
si14

\
200

\
220

\
180




anpnrting Information: Shen, M.; Driver T. G

Page 53 0f 150

—ONTOITMNHONON—OMNMAOATO— O
NNOOONWN——OOOONO——WOLNM
OO ITITMmMANINN

e e e el o e e e e ol o D D D A Y A

L\N/ //// J
\\\\\ \\\ “/‘J j/e /

7.491
7.486
7.473
7.469

[.
R.

TO—< O
——omnm

\ A/

J

smh2-96 'H, 500 MHz CDCls

\
ppm 11 10 9




anpnrting Information: Shen, M.; Driver T. G Page 54 of 150
LN <TON—ONONO
o O— AT — [eoXep)(e}
1 ©©OBNNONM —©9 3
© OT—0OOTMNO M -
S O3 —003 ma NN smh2-96 '°C, 125 MHz CDCl3
N N 0
/ / \ /
\\ ‘/ // //, \\\ // \
ARV \/ Cl N
O
N3

\ \
220 200




anpnrting Information: Shen, M.; Driver T. G

Page 55 of 150

—FTOONOHOONOHV—OO
—OoONINITN——O0HOOHOWO
N

ey

497

~2

; smh2-105.002 "H, 500 MHz CDCl4

(0]
A\
Me N
— <t OOINOHOOLNOD 00 — [e)e)] \©:
—® INTN——OM o O 0]
—Q 0NV N oo A NO,
00 00 NSNS NN~ NN~
| ] Ny | s16
TRV T
\
\ \
| |
|
N
1 2.08 0.899
\—'—1 \_'_1
2.05 0.937
Tt 1ot Tttt
ppm 81 8.0 79 7.8 7.7 7.6 75 7.4 73 7.2
‘\
\
|
I
H
\
JJ L ML A I
- L L
2.05 0.937 2.91
oo L
1 2.08 0.899
\ \ \ \ ‘ \ \ \ \ \ \ \
ppm 11 10 9 7 6 5 4 3 1 0




Page 56 of 150

Supporting Information: Shen. M.: Driver T. G

I

gev'Ld——

S¥8'9L—
660°2. =
0SE2.—

660421
G2l ¥l —2
02562l ——

€06°S2L —
04€°0€L

806 LSL—
0S2bSL—

6EGSYL ——

90999l —

J

Lad d

smh2-105.002 '3C, 125 MHz CDCl5

@)

\

N

Me

0
NO,
s16

\
180

\
200

\
220




Page 57 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

I

¥82'¢——

899°€——

9629 — -
L899 — -

9€6'9 — —
65072 — .
§20°2L—

L1922 —— —

[e0]
N~

Ot oo
[seXepXeelee)

Al
<
QNN AMNMNNN

O
<

\\w’/ \\//

I N T D

gV}
T}

|8

Me

smh2-107.002 "H, 500 MHz CDCl4
\
N: \S
o]
NH,
s17

M@L

JNLA

\_'_1
3.27

2.37

Lrl

1

Lrl

1.25 1.07

2.36
\_'_1
2.25

ppm 11




Page 58 of 150

Supporting Information: Shen. M.: Driver T. G

I

60—

918'9Z—

890'2,.— =

02€2L—

SS08LL—
6S5°€2l
028° €2l —
b70'62L —

N —
280°2¢L — W\
192°0¢vL—

L1/

\

9L¥ 29l ———

J

Lad d

smh2-107.002 '3C, 125 MHz CDCl5

)

\

N

Me

o)
NH,
s17

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G

DangQnHRn
QOTOWInS N
e lseXaNIgN (o]
OO OO o
N I NN 0
smh2-111.001 "H, 500 MHz CDCl;
@)
N
Me N
LY
N3
s18
-
1.99 0.983
R I D R
ppm80 79 7.8 7.7 7.6 75 74 73 7.2 7.1
! |
||
|
N
|
JI W
1.99 0.983 2.93
Loy
1.97 0.939 1
\ \ \ | ‘ | | | \ | \
ppm 11 10 9 8 7 6 5 4 3 0




Page 60 0f 150

anpnrting Information: Shen, M.; Driver T. G

< MNe— OO0 NANIN
n OINO VOO TN — tTOmMm 0]
Q OO RHONN DN 0
N Nt —— O N ™~
o] MMM AN — N~NNO o
‘ L\\ ‘\ /ﬁ/ | /’/J /J L\ J

S A Y \ |/
‘ \ \// |/ \|/

\| |/ [/ \|/

\

‘ I/ \l/

smh2-111.001 '3C, 125 MHz CDCl3

0]




anpnrting Information: Shen, M.; Driver T. G

2386
2379

OMNe—NINTANOOM—
OMNMNMNHANNOOOHOOHO

— <N
oYY
QOO OIOYOYO OO NNNNN

(ool D D D e e et e D e e e D N

87
785
—7.242

i \K /L%/ -

L o

1 1.99
\_'_1 \_'_1
2 1.08
e e e s
ppm80 7.9 7.8 7.7 76 7.5 7.4 73 7.2

Page 61 of 150

smh116 "H, 500 MHz CDCl;

o
\

Me N
IO
Me N02

s19

\
ppm 11 10 9 8 7 6 5 4 3




Page 62 of 150

anpnrting Information: Shen, M.; Driver T. G

o
st
™
©
©
—

_—-19.994
—19.627

/ |
\ [

\/

\

_——77.361
- 77.105
T—76.850

smh116 13C, 125 MHz CDCl4

O
A

Me N
L%
Me N02

s19

\ \
220 200 180




anpnrting Information: Shen, M.; Driver T. G

pagpﬁ?nfﬂ;ﬂ
—NOTOMONO T O (o)} N
N FONOONNDO 0O < N0
OOOONNNNN 00N n N e—
NNNNNNNNN OO e NIV
N )
e
\\ // / ‘\,
smh2-118 'H, 500 MHz CDCl; N | | I
\
° \
\
Me N
1L %
Me NH,
s20
\
| |
||
\
\
- L ¥
2.24 1.07 2.98
- o = Y
2.11 1 2.09 3.4
\ \ \ \ \ ‘ \ \ \ \
ppm 11 10 9 8 7




Page 64 0of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

0s8'8L——
vvlelL—

¥G8°9. —
R
29€ /) —

lyS'SLL——

29¢€6LL——
69/°€21——
08272l ——
€09'62l——
0oL el ———
6SESPSL—

8y0°6EL

/S60vL—

8/6 /91—

smh2-118 13C, 125 MHz CDCl4

@)

\

N

Me

(0]
NH,
s20

Me

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G

Page 65 0f 150

- 2.326
—2.268

\_'_1
2 2.97
! = i
1.99 1.91 2.93
\ \ \ \ \ \ \
ppm 11 10 9 8 7 2 0




Paae 86 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

I

V26l —
1796l —

vr892L —

9602, o

0S¢ /7 —

962°/91
g
(@)
(]
(&)
N
T
= ~ o
T} .
ad > g =
8
o
(q\]
(qV] d °
i g 2
(q\]
-
=
w

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G

Page 67 of 150

smh2-110.002 "H, 500 MHz CDCl4

@)
N
Cl N
DR
Cl NO,
s22
\
\
l
\
\
L |
2.21 1.01
Y !
1.01 2.27
\ \ ‘ \ ‘ \ \ \ \
ppm 11 10 8 7 2 1 0




anpnrting Information: Shen, M.; Driver T. G

©

LN

™

LN

©

-
\

/
/ o)
/

Page 68 of 150

NI smh2-110.002 '3C, 125 MHz CDCl5

A

Cl N
O
cl NO,

s22

\ \
220 200 180




anpnrting Information: Shen, M.; Driver T. G

Page 69 of 150

[@]{e} o) AN < — o
o < (o)) 00 o <
NN N O L5 o N
||
‘ ‘ ‘ ‘ smh2-114 'H, 500 MHz DMSO-d6
. | |
o]
N
cl N
10
cl NH,
\ s23
|
|
\_'_1 \_'_1
1 2.07
4.11 1.08 2.15
\ \ \ \ \ \ \ \
ppm 11 10 8 7 6 2 1 0




Page 70 0f 150

G8¥°6¢€
299°6€
2186E —>
986°6¢ -
LSLOY——
LLEOY
S8¥°0F

069°SLL—
0¥6°'SLL —

8029LL—
G99°€ll ——
IO CEL —

9/b2El —
A

2L9vEL—

08v'Lvl ——

L1929l ——

J

anpnrtinn Information: Shen. M.: Driver T. G

smh2-114 13C, 125 MHz DMSO-d6

Cl

Cl

s23

\
180

\
200

\
220




Page 71 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

smh2-132 "H, 500 MHz CDCl;

J
/
/
/
/
/
/
/)
/

|

OYTOMOAMNOMNOOD

KON ——— O

O NNNRQRIT NN

NNNNNNNNNNN
)

<
AN
[7/]

2.33

7.7 7.6 7.5 7.4

7.8

7.9

ppm 8.0

J

1

N

2.4 0.984

Lrl

2.33

f
1

ppm 11




Page 72 of 150

Supporting Information: Shen. M.: Driver T. G

I

J

Lad d

A

smh2-132 13C, 125 MHz CDCl4
0

€08'92L —
¥50°22 —

90€ 2L —

168°021 —
€007¢el —
oA —
20678cL

pELLEL—

2r02EL—
L0 VSl ———

SPlvEL—
009°2€ 1 —

0€E99Ll ———

N

Cl

@)

N3

Cl

s24

\
180

\
200

\
220




Page 73 0f 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

68L°C¢—
EEVe———

smh2-167 "H, 500 MHz CDCl;

0)

Me

Me

2
@]
Z

s25

7.4

7.8 7.7 7.6 7.5

7.9

ppm 8.0

un

o @

o

ppm 11




anpnrting Information: Shen, M.; Driver T. G

Dagp7Anf1'§n
o TOONNO S S+ 00
) NON—N—LAIND NOo® - N~
© nToOTtTN— ™M ™M= - o
© Tt mommmalalal NN — <
L]
T N ]
RN |
LV \ [/ \|/ ‘
/ “ \ ‘J‘ \“‘// \’/ ‘
smh2-167 13C, 125 MHz CDCl,
O
Me N\
Me N
(0]
NO,
s25
\
|
\
I
[ [ [ \ [ [ \ \ \ \ [
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G

Dagp7'§nf1'§ﬂ
LN N NO— NN o N <
(@] OONn O (o] Nl O
[e))eo] NOO W < Nl O
NN NNN ©© e N
NN | ]
IR -
\ \ | |
smh2-171 "H, 500 MHz CDCl4
O
Me \
" .
O
NH,
s26
| |
I
|
|
\
J M
N L L
2.02 1 3.26
! L — b
1.99 1 2.04 3.16
\ \ \ \ \ \ \ \ | \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 0




Page 76 0of 150

Supporting Information: Shen. M.: Driver T
L o ) 7 7 ’

smh2-171 13C, 125 MHz CDCl4

(0]
Me \

Me N

NH»

s26

G
(@)
o
A
N
(o]

_—77.329
77.074
—76.820

—19.707
—14.812

\ \
220 200 180




Page 77 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

G80¢——— —
v0€e—— —

smh2-173 "H, 500 MHz CDCl;

)

Me

Me

Y

2.97
2.93

ppm 11




Page 78 of 150

Supporting Information: Shen. M.: Driver T. G

I

J

Lad d

€8L YL — —

2800 —— —

226'9L —

\I/
\

AN N o VA

lmllh "
Ul

A
sV Ll —

196°SLL—— -
€S9 lgl—

v28€2l— -
128" LSl —
00281 ——— \ \

i/

R e —
/6S°SEL—

S8 LEL —

L
\

6L 29l —

(0]
Me

smh2-173 13C, 125 MHz CDCl4
Me
3

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G

OOOVOLNNNMNOO
OQONINTN——OWWO
YO GHH 000000 T AN

—2.472
—2.277

Page 79 of 150

©OWVO MMM ©
©ONMN FTAN——O © |
o0y RQQX .
O NN NN N~
Me | 2~ N
D N \ |
\
o]
Me N02
s28
- ]
0.966 0.999
\—'—1 \_'_1
1.99 2.11
\ ‘ \ \ \ \ \
ppm 8.0 7.9 7.8 7.7 7.6 7.5
\
|
|
\
!
‘ {\‘
i N
S —
0.966 0.999 3.21
e =
1.99 2.11 3.16
\ \ \ \ \ ‘ \
ppm 9 8 6 5 4




Page 80 0f 150

Supporting Information: Shen. M.: Driver T
L o ) 7 7 ’

G
©
Y
™
©
©
-

smh2-169 13C, 125 MHz CDCl; |

0]
Me N\

N

0]
Me N02

s28

NNITITNO

OCOOWOT AN
<IFomonmn

—

\ \
220 200 180




anpnrting Information: Shen, M.; Driver T. G

Page 81 of 150

[@X{e) QN O [ce} O <
LN o O com LN O n
(o] [qV| LN LN N O
NN 66 o NN
N ] |
| | | \| |
smh2-174 TH, 500 MHz CDCl; | |
o
Me N\
N
o) |
Me NH,
s29
|
I
|
W M
L) L)
2.02 0.895 2.94
= i L N
2.19 1 1.94 2.9
\ \ \ \ ‘ ‘ \ \ \
ppm 11 10 9 8 3 2 0




Page 82 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

EL0O8L——— —
0S¢’ Lle—

L€8°9L —

€602, = —— —
LvELL—

66ELL——
POP'SLL—

02022l ——

legegl— -
L2025 L ——

LY’ vEL — —
L6LLEL—
6620Vl —
SEL'EYL —

9% /9L —

(0]
Me \
(0]
NH,
s29

smh2-174 13C, 125 MHz CDCl4
N
Me

\
200

\
220

\
180




anpnrting Information: Shen, M.; Driver T. G

Page 83 0of 150

smh2-176 "H, 500 MHz CDCl4

—2.370
—2.157

0] OO O <O <+ N
Me "y IO 32
N NNNNNNNNN ©0©
/ \/
o XA
30 | |
\—'—l
2.12
\_'_l
2
| | | | | \‘
ppm 8.0 7.8 7.6 7.4 7.2 7.0
|
‘l
o L
2.12 3.13
= = =
2.03 2 3.13
\ \ \ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 0




Page 84 of 150

anpnrting Information: Shen, M.; Driver T. G

[o0]
o
-
N~
o]
-

8

1

2
—77.495
77.242
—76.983

—21.377
17.852

smh2-176 13C, 125 MHz CDCl4

O
Me N\

N
O
Me N3

s30




anpnrting Information: Shen, M.; Driver T. G

OQONTANMOOOMNMOOLNMOOLNOT N (o))

OINTNMMONOOINN—— OO0 —OOHO o

NOQROANNGNHRDHINKNEOG S smh136 'H, 500
@@@@@@@@@@@ o

©iNH2
N3

ONTANMNMOOWILMO OLIMO 0L O A
IN<TMMOO0WOWOLNLN —— OO0 —OOOo
OOOSRARRNNG  QERIONN NNOO 7
NNNNOOOOOO OOOOOO LO@@LO

Page 85 of 150

MHz CDCly

|
|
\
1 1.07
\—'—1
\ | 1.06 1.08
\ \ ‘ \ \ \
| ppm 7.1 7.0 6.9 6.8 6.7
\
i1
MJ M A L
RS
1.06 1.08
o "
1 1.07 2.31
\ \ \ \ ‘ \ \ \ ‘ \ \ \ \
ppm 11 10 8 7 6 5 4 3 2 1 0




Page 86 0f 150

anpnrting Information: Shen, M.; Driver T. G

—138.049

_77.266
77.011
——76.760

smh136 13C, 125 MHz CDCl4

\ )
\ /
\
\ /
\
\ |/
\ |/
/
\|/
\I/

7

NH,

N3




Page 87 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

NH,

smh2-93 H, 500 MHz CDCl3

0¢S'e—
€92°€—

559
055°9
€959

8199
299
9£9°9
599
092 2L—

N3

MeO

10a

SS9
0559
2959 ——
8959

8l9°9—
729°9—
9€9'9—

¥59°9 —

1.97

6.5

6.6

ppm 6.7

ppm 11




Page 88 of 150

anpnrting Information: Shen, M.; Driver T. G
0] O O < [
[e)] mn o — — moown N
~ QX = <9 © o 3
Y - a = S N O 5 smh2-93 13C, 125 MHz CDCl,
— - = — — NN LN
| . \|/ |
| NH,
| . | 1
MeO N3
10a
|
\ \ \
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G Page 89 of 150

[c0) (9N
o o
N o
o «  smh113 H, 500 MHz CDCl3
o
| Me N5
S Al 10b
< BSOS

—6.867
8
—6.791
6
6
6
6

\
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Page 90 of 150

N OommMm umm
O OO nHhoO mnOLwn [e0]
N NNO O— MNAN (o))
1 OO OO LNNO 0
M ANANAN —— NN~ o
— e —— NN N
. L] |
V] \[/
AT |
R T T \ \
smh113 '3C, 125 MHz CDCl
NH,
» X
‘ Me N3
10b
|
|
| |
|
it WWWWMWWWMWWWWWW AN A " u
\ \ \ \ \ \ \ \ \
220 200 180 120 80 60 40 20 0




Page 91 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

smh2-104 "H, 500 MHz CDCl;
NH,

€L9€—

N3

10c

209'9 -
€199 — -
029'9—

0£9'9—

£99°9
899'9 -
0899
T
202°9—" a

2629 —
29,9 ——
SLL9— —
082°9—

0.996

2.07

1.01

6.7

6.6

6.8

1.01
7y

1 0.996

ppm 11




Page 92 of 150

anpnrting Information: Shen, M.; Driver T. G

O LNe—MMN— O

N NNDNDNOO

N —=——00 smh2-104 13C, 125 MHz CDCl,
|

/

/

~—157.030
- 126.033
_——77.361
= 77.102
- 76.850

———155.135
——134.325

-

pd 2

@ I
o

\ \
220 200 180 160 140 120 100 80 60 40 20 0




Page 93 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

NH,

smh2-97 "H, 500 MHz CDCl4
Cl

188 €

N3

10d

6599 — _

€999~

922°9 —

e
v/ 9——

8%/, 99—

206°9 —

7269

6.6

ppm 6.9

2.2

ppm 11




Page 94 of 150

anpnrting Information: Shen, M.; Driver T. G
—N-Moo
Ne—NO Tolep}
Qoww <G smh2-97 13C, 125 MHz CDCl

_—77.374

—139.123

—130.720

CI\@:NHZ
N3

10d




anpnrting Information: Shen, M.; Driver T. G Page 95 of 150

(o0] o
LN N~
N Al
i N
smh2-115 H, 500 MHz CDCl; |
Me\C[NHQ
N3
10e
|
|
|
1.05 2.15
by L

\
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Dagp 96 of 150

w\_

oawn — N1 o

oo — O LN

N LD ¥ —® Q

o NN© —

—— N NN N

smh2-115 13C, 125 MHz CDClg N "y |
‘\ | \\ '/ ‘
|| \/ |
Me\@:NHZ | !
N3
10e
|
|
|
|
|
| | | | | | | | | | | |
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G

Page 97 of 150

smh2-124 "H, 500 MHz CDCl4

Me N3

10f

— 7.260

—6.799
—6.517

—3.610

—<r
OO~

NIV

\
ppm 11 10 9




anpnrting Information: Shen, M.; Driver T. G

Page 98 of 150

NN D nNnoYS
— QN 00 OO I~ NN O o<
NO N <O NN [qVKeN|
Bon N o N oo
nmMm N Ne—— NN [ep]ee]
—_— - —e—r NN ——
| ‘ ] || ) |
|| . \ |/
| | \ |/ |
o \/ |
smh2-124 13C, 125 MHz CDCl4
Do
Me N3
10f
\
\
\
\
‘\
\ |
\
\
\
WMWWWWMWWWWWWMWMMWWWWWWWWWWWMW
\ \ \ \ \ \ \ \ \
220 200 180 160 140 120 100 80 20 0




anpnrting Information: Shen, M.; Driver T. G Page 99 of 150

smh2-162 "H, 500 MHz CDCl5

cl Ng

—7.261

—7.035
—6.738
—3.818

\ 10g
|
L
\_'_1
1.03
\_V_‘ \—V—‘
1 2.22
\ \ \ \ \ \ \ \ ‘ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




Page 100 0f 150

anpnrting Information: Shen, M.; Driver T. G
[qN] — NN
— INOOOMAN 00 W0
N~ NOYOWIN T tTom
S guges o8
HERE R NININ smh2-162 '3C, 125 MHz CDCl;
| | | | |
‘ ‘ C‘ \
\ ‘ ‘\ “‘ \\/’/ Cl ]@:NHz
cl N3
10g
\ \ \
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G Page 101 of 150

O <O N~ [coXe)]
0000 WO [ N O
©COVWV© ™ alal
smh2-175 'H, 500 MHz CDCl | ‘ J ‘ |
\\ n
Me ‘ ‘ [ ]
Me\©:NH2
N3
10h
||
|
|
ol
|
- o
1.01 3.18
\_'_1
1 2.07

\
ppm 11 10 9 8 7 6 5 4 3 2 1 0




anpnrting Information: Shen, M.; Driver T. G

Page 102 of 150

N < Qo —O
LN 0 MNMANION [@)¥pYoe} [e)] —
alwn OO — nNoYm <r (q\]
©n ae—Oown A 0 -
smh2-175 13C, 125 MHz CDCl5 Lo NNN— NN QS C
] L] |
Me “ “ V| \ |/ ‘ ‘
N3
10h
|
|
|
|
|
|
|
| | | | | | | | | | | |
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G Page 103 0f 150

O o0
— N
ol

—6.789
—6.740

smh2-181 "H, 500 MHz CDCl4

—3.679
3
1

Me

Me N3

10i I

\
ppm 11 10 9 8 7 6 5 4 3 2 1 0




Page 104 of 150

anpnrting Information: Shen, M.; Driver T. G
——MANN O
ININNOANO O NNt O
OOOONO M Oown oL
BN O e NG
MANNANN — NN~ O~
————— — NN N—
smh2-181 13C, 125 MHz CDCly || ‘ J/‘ ‘ V] | ‘
Y \ |/
i |
Me b h
NH,
Me N3
10i
\
|
BN Wiy i A WAoo byl W e e h i it y W
\ \ \ \ \ \
220 200 180 160 140 120 100 80 60 40 20




anpnrting Information: Shen, M.; Driver T. G

Page 105 0f 150

NTOMNM—OOWOM—0OWMNLN

00000000 OO MNMNMN’MNMN’MNMN’NNMNNNNNNNIN-

NN

—HOM—00
OOONNOLN

smh151.002 "H, 500 MHz CDCl;

\
ppm 11 10

- b
215  1.452.17
Lrl
1 2.26 1.15
\ ‘ \ \ \
9 8 7 6




Page 106 0f 150

J

anpnrtinn Information: Shen. M.: Driver T. G

NO,

smh151.002 '3C, 125 MHz CDCls

09292 —

€02, — =
L1220 —

rSO6LL—u

22902l —— —
PEOYEL —
L6s'SgL———
29182l ———
19962l —
600vEL—

AN —
vI0EHL—

68€6YL ——

902728l ———

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G Page 107 0f 150

NITNDOOOMNWLMNMONT —O0O OT—ONT —OHO
VOONOOMNN——O0NOVOTTMMONOOT I
NNNOOANNANANNNrE e — OO0 OO0 0

smh150 'H, 500 MHz CDCl3

/
—7
N
S
—
NG
—7
DN

N |

Loy
2.06 1.072.06

7 Py
1 2.12 1.07

\ \ \ ‘ \ ‘ \ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




Page 108 of 150

J

anpnrtinn Information: Shen. M.: Driver T. G

Br

smh150 '3C, 125 MHz CDCl4

15292 —
6002 ———=
0922, —

\

ATAVA

LN

(o))

o

o
SOOMNMNMNANINANN —
—r e e e

¥92'6SL ——

\
160

\
180

\
200

\
220

80




anpnrring Information: Shen, M.; Driver T. G

ON—OT—OOONTA
LNONOTMN—O OO0
QMMM NNNNNIDINWNLLN

Page 109 of 150

smh2-19.001 'H, 500 MHz CDCl4

s

NSH CN
8j
O —OCOOINTANOOOOMANOOMNNMNMNOST OO —00OANOONMNMAN
OTN— OOV NVOWOMNMNOONINS oML OONTTOHOHYO O
l\l\l\l\l\mmmmmmNNNNNNNN|—\—|—|—\—|—|—\—|—|—OOOO
................... OO
\\&&\\&Q/////
\
| \‘ I
\ |
\
|
\
| [
| | |
| | | | Hil
\ \ I
| |
|
| | 1.12 2.17
L | L |
l 2.27 1.14 1.09
T T T T ] T R I B
pom7.8 7.7 76 75 74 73 72 7.1 7.0
‘ J L QL | . | N
1.04 1.12 2.17
L L=y
1 2.27 1.14 1.09
\ \ \ \ ‘ \ \ \ \ \ \ \ \
ppm 11 10 9 8 7 6 5 4 3 2 1 0




Page 110 0f 150

smh2-19.001 '3C, 125 MHz CDCl4

oy

anpnrting Information: Shen, M.; Driver T. G

. 77.264
—— 77.010
~—76.759

H CN
N3

8j

—155.883

\ \ \
220 200 180




anpnrting Information: Shen, M.; Driver T. G

Page 111 of 150

8 oNwoOoNOMmANIo M 0
(o)) NOOMNS N—00WOLNO N
N SN T N e <
— QOO NNMN’NNMN’NMN’NNM’NMN’NM’NNM’NNMN’NMN’NNNIN (qV]
| uy |
\ |/
| \|/ |
| \V/ |
smh192.002 "H, 500 MHz DMSO-d6
©WOWOAIOMAIC N OOAIW© ©:N\>_©
ONTTMNMN—000OLN G 00 00
NN T S N, e N
NN NN H
\
oA V% 4
\
[
\ | |
H
\
|
[ |
I
\—'—1
1.93
T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘
ppm7.7 7.6 7.5 7.4 73 72 7.
I
L !
1.94 1.93
\_'_1 \_'_1
1 4.81
\ \ \ \ \ l ‘ \ \ \ \
14 13 12 11 10 9 8 7 3 2 1




Dagp’H? of 150

681°6¢€
¥S9°6€ —
228°6€ -

J

Lad d

Supporting Information: Shen. M.: Driver T. G

vSLOb
2207 —
68¥°0Y

)

WONLMMLN O
ONr——LNW O
OOOOMANO —
MNOMOANANANN — —

MYNQ— Mm@
Lol el el il el e )

e _

©
©
o

\
\

-

—
o
N
Tp]
%)

0€PYl ——

ELL LS —

N
A\

N

H

L

smh192.003 3¢, 125 MHz DMSO-d6
4

\
180

\
200

\
220




Supporting Information:
Lol ol J

Shen, M.; Driver, T. G

Dagp’HQ of 150

'C\D — N [l
~ < < [N
© NG ™ NN
— N~ ™ NN
| |
|
smh'76B TH, 500 MHz DMSO-d6
N
CLOre
N
H
6
I A
\_'_1
1.01
—_— —
1 915 1.91
‘ \ \ \ \ \ ‘ \ \ \ \
ppm 13 12 11 10 8 7 3 2 1




Dagp114nf1;n

J

anpnrtinn Information: Shen. M.: Driver T. G

€622l ——
S266LL—

L1822l —
AR A E—
0L2¥2l—
yS8221 —

/89681 —

S0S9SL——

pesvrlL——
652 8hL —
SOl ——

smh'176B 13C, 500 MHz DMSO-d6

NO,

N
\

N

H

€62°¢LL ——

S26°6LL——

11822l ——
y20v2l——

\
A‘““:

$S8°/221—— B

/89°GELl——
G0S9EL—

AR L A

ppm 140

\
160

\
180

\
200

\
220




Page 115 of 150

8LV —

96¢’¢

86LZ——
1967, —
819, —
N —
WLl

eLrg—

J

102621 ——

Supporting Information: Shen. M.: Driver T. G

smh2-3.003 'H, 500 MHz DMSO-d6

Br

N
\

N

H

X

86l ——

1952 —
819/ —
62272
Ll

9b

e

A

1.8
7.2

1.87

7.8 76 7.4

8.0

ppm 8.2

J

\_'_1
1.8

Lrl
.79

-
1

1.78 1.87




Page 116 of 150

anpnrtinn Information: Shen. M.: Driver T. G

L6t'6€
185°6E — \
9280b -
92¢€0v
_?.ov\ 6
9
@]
(92}
M S
Q o
N
I
=
LN
= 0
G o
N @
o
(@]
o
N
<
€
(7]
106 LLL——
09%'6LL
§2eeel —
DAL E——
122°€2L—
92882l —— .
29862l —
eSp2sl— -
88Y'SEL —
L2yl ——
o 106" LLL—— .
$89°0G1 ——
09v'6LL—— . ]
G2e22l— \ :
122°€2L—— -
: 122°€21—
] 928'82l — ]
198621 . w :
, CGH2ELl —
88y GS | —— -
o
—<r
. £
u 6Lyl —— \ W

\
180

\
200

\
220




anpnrting Information: Shen, M.; Driver T. G Page 117 of 150

e0]
< ™ NO
o0 N~ [ep]e)]
o N NN
— ad ——
‘ \/
\
—m NTND—N O smh2-4 'H, 500 MHz DMSO-d6
([@Xe)] OO ITM O
- NNLNLNLOLN —
00 0 NNNNNN N N
t\/ K%j:/J ‘ [::::[: S>——<<:::>F—¢-Bu
' N
\ H
! | 9¢c
|
\—'—1
4.23
‘ \ \ \
ppm 8.0 7.5 7.0
H
|
| \ |
[ ‘ | [ ‘ |
2.18 2.22

‘ \
ppm 13 12 11 10 9 8 7 6 5 4 3 2 1




Dagp’HR of 150

anpnrting Information: Shen, M.; Driver T. G

——153.001
—151.770

smh2-4 13C, 125 MHz DMSO-d6

N \ VN
Crb-Oe

N

H

9c

\ \
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G

Dagp’HQ of 150

% ONNONN—NINT — N NN — ™ < o
N~ —— OO0 — OO OMNOUNSTMNAINO O — [N N~
— o o [qV]
| -
NS oo RSP SNl smh2-10.002 "H, 500 MHz DMSO-d6
©omn << ——————— O O
NN NN NNNNNNNNN
| ] | N
R N\ (L o—)ome
\ | \ | ‘ N
[ H
9d
[
1!
\ \
| |
|
[l
| |
1.96 \ \
0.972 2
T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T
ppm7.6 7.5 7.4 7.3 7.2 7.1
I
\
|
J . |
L ooy
1.95 0.972 2
L Yoy !
1 0.952 1.96 2.98
‘ \ \ \ \ \ \ ‘ \ \ ‘ \ \ \
ppm 13 12 11 10 9 8 7 6 4 3 2 1




anpnrting Information: Shen, M.; Driver T. G

Page 120 0f 150

[oe] o] N O NOOOO—OHOoLWN
O (qN] O N 00Ot NOMNMmO N
o o] o < < e—inmooHoown (@]
— < < 15 OaN—OL— N
© P Y O NNNNT T \n
BN
| AN
\ ‘\s/,“
I N R
smh2-10.002 13C, 125 MHz DMSO-d6
N
Lo
N
H
9d
\
\
\
!
o
I
\
\
O A
\ \ \ \ \ \ \ \ \ \ \ \
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G

Page 121 of 150

13.038

NH—O0OONINOMOHOWOVTWOO T
Ne—— OO NN AN N —

[ce kool ol e D e D el D O e R Y

N

3.168

—2.479

smh2-5 'H, 500 MHz DMSO-d6

VOONINHNOMOHOW <tTOO <0
QOQONS NANINe——O Ne——OO»
ONNNLNLNLNLNLOLN NANNN—
W T S
N
| H
9e
|
|
|
|
|
|
|
b |
Lrl i
1.12 2.04 2.02
S — o
1 1.1 2.1
‘ \ \ \ \ ‘
ppm 13 12 11 10 9 8 7 6 3 2 1




Page 122 of 150

J

Lad d

Supporting Information: Shen. M.: Driver T. G

6.1°6€
879°6¢€
€L86E — 2

6L66E— ———

8y L0y —
cLEOb
6.t°0F

606221l —_
S/¥'S2l—
91§92l ————
€8662l ——
vocLEl ——
189'2¢l—
6S2’VPEL—

222°0SL ——

Cl

z7 "zT

smh2-5 13C, 125 MHz DMSO-d6

/]
»

\
180

\
200

\
220




I ]

Supporting Information: Shen, M.; Driver, T. G.

Page 123 of 150

Current Data Parameters

; ONMSMNW AT N WO YOO
0 MOWLONOO™WO W W~ —r-—om
(\; Omo\mvﬁ‘m(\lf\]r—i\—lx—it—l T T T M ™M
— wr‘ﬁf\hﬂ\ﬁf\ﬁi\hf\ﬁ NNN NN
|
} Me
N
\ .
N
H
of
|
l
l [
|
1 i
AN ; k. " i VLJ
R I R B B AR RARARARRAS RARAEERARS Ran s sy nan s s s s ny La s s LS R A RARAREERS ERRRRE R
13 12 11 10 9 8 7 6 5 4 3 2
: UL I
OX ﬁw-a};?im (10
S| et bl et At ] 2
-} {omipm [ Q] vl v~ i QN e

NAME .smh2-13.002
EXPNO 1
PROCNO 1

F2 - Acquisition Parameters
Date_ 20071108
Time 16.27
INSTRUM spect
PROBHD 5 mm BRO BR-1H
PULPROG zg

TD 32768
SOLVENT CDC13

NS 16

DS 2

SWH 8503.401 Hz
FIDRES 0.259503 Hz
AQ 1.9268672 sec
RG 80.6

DW 58.800 use
DE 6.00 use
TE 300.0 K
D1 1.00000000 sec
MCREST 0.00000000 sec
MCWRK 0.01500000 sec
======== CHANNEL fl =======
NUC1 1H

Pl 3.50 use
PL1 -2.00 dB
SFO1 500.6427535 MHz
F2 — Processing parameters
ST 32768

SF 500.6400128 MHz
WDW EM
SSB 0

LB 0.30 Hz
GB 0

PC 1.00



L L In] L ] L ]

Supporting Information: Shen, M.; Driver, T. G. | Page 124 of 150

™ M 0 ~ ™M
@ W AN MmN oW WO WO W o~
N N M TN H OO n
— D0 O OO < N . . .
% ES8RIN ssgasgs BRUKER
— o — LT OO o

Current Data Parameters

NAME .smh2-13.002
EXPNO 2
PROCNO 1
F2 — Acquisition Parameters
Date__ 20071108
Time 16.32
INSTRUM spect
PROBHD 5 mm BBO BB-1H
PULPROG zgpg
TD 32768
SOLVENT CDC13
- NS 164
DS 2
SWH 30303.031 Hz
FIDRES 0.924775 Hz
AQ 0.5407385 sec
RG 16384
DW 16.500 usec
DE 6.00 usec
TE 300.0 K
D1 2.00000000 sec
dil 0.03000000 sec
DELTA 1.89999998 sec
MCREST 0.00000000 sec
MCWRK 0.01500000 sec
======== CHANNEL fl ========
NUC1 13C
Pl 2.70 usec
I PL1 1.00 dB
| SFO1 125.8998755 MHz
( ======== CHANNEL f2 ========
CPDPRG2 waltzl6
NUC2 1H
PCPD2 83.00 usec
l [ PL2 -2.00 dB
PL12 15.40 dB
PL13 20.00 dB
SFO2 500.6422529 MHz
l F2 — Processing parameters
ST 16384
SFE 125.8860280 MHz
SRRSO BT P 1 . . e . oo, W B
oy Pk Mahoinfi o rielhasegt o Vet y itk st ' SSB 0
LB 3.00 Hz
GB 0
‘ ‘ J ‘ ' ; ' z ' 1 ' i i T ' 1 ' | BC 1.00

1 |
180 160 140 120 100 80 60 40 20 ppm



Page 125 of 150

6LV d—

68€°€——

L5062l ——

anpnrtinn Information: Shen. M.: Driver T. G

smh2-6.004 "H, 500 MHz DMSO-d6

Ve L —

L€6°

<TNHOO
NOOY
NN

NN

|

//J/
———

=

—

—

=
=

o

eV}
LN

I e D e D T Al el Dl D D D D D D D A
—

Nz

12

ppm 13




Page 126 of 150

I

J

Lad d

Supporting Information: Shen. M.: Driver T. G

920%2LL———

89/°6LL—
v20°22l —
092°€2L——
0L8'8el —
280°LEL ——
SEQZEl———
185 HEL—
295°GEL —

169°€pL —

€02 LYl ——

smh2-6.004 '3C, 125 MHz DMSO-d6

\
180

\
200

\
220




Page 127 of 150

anpnrting Information: Shen, M.; Driver T. G

(€]
ad [ee]{e}
O O~
o N,
— [aNKeN|
| |
N
\ ||
||
‘ | |
|
TNDG 28 KBRS NNNS RN smh2-12.001 "H, 500 MHz DMSO-d6
NNOO LN ONOMOMOMMOMOMMAIN] — —
NI NI NN N N I NN N
RN NG Me
\\/e“ “\ /“/ \\\ /‘/ \’// \\ /“/ N
\
(:EN C
H
9h
0.99 3
T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T
ppm7.7 7.6 7.5 7.4 7.3 7.2
|
| | \
ERE
||
|
S
WL
1.0M.02 1.98
L M L
1 0.99 3 3.04

‘ \
ppm 13 12 11 10 9 8 7 6 5 4 3 2 1




anpnrting Information: Shen, M.; Driver T. G Page 128 of 150

O OANOOTOMOIOOMNMNWO
— O0OO0OMWIN—OANNOON OMNMANSTNT O o
¥ Y ONW!ON T 00NN ONTLONLO ™
A INTF—ONON— ) — TN oot 1N
LH SN on e Al AN — — elelelolo ol N
/ J \ |/
/ \ /

]

/
/ /’
‘/'/ /'/ e/

L \\
smh2-12.001 13C, 125 MHz DMSO-d6 \\\\\

Me
@%5 )
A\

N
H

9h

\ \
220 200 180 160 140 120 100 80 60 40 20 0



anpnrting Information: Shen, M.; Driver T. G Page 129 of 150

N~ Ne—MNe— OOMNNMNOTMMOOMNe—UNNTNI—O < N
N caczw.oqoq'\.'\.'\.'\.'\.'\.'\.@@wuwwwf\!wf ™ <,
— | S A N A T S S N N N N AT o [qV|
N\ ///% -
Ot MNOFNINT — AN — N0 —© < OLA S 00 smh2-17.001 'H, 500 MHz DMSO-d6
Ne—MN— OONMNNMNOTMMNMOWOM — NN AN—O
OOV ONMNNMNNNNNNOONLG AN N —
FsC,
Cr-0O)
\
N
H
9i
\
\
\
\“\ \ \‘M
||
k i |
e
1.02 1 2.04
— - b
1 3.02 1.07

\ \
ppm 13 12 11 10 9 8 7 6 5 4 3 2 1




anpnrting Information: Shen, M.; Driver T. G

OOMNMITANNOOVOVONNNNLNIMNMMNMANIO) —
Sommmonmon AN ANANNNNANANNN ——

smh2-17.001 13C, 125 MHz DMSO-d6

NCOANN-00N WO
O —LNgp—LNCO
Yo gRres
SOoOOoPoooo
T Pononon

Page 130 0f 150

@) O NOOOMMONLD NM < ©
© NN LDONANOTWOOST 0 O <
(o)) VO MNOOTFT—OTOON —— O (o]
< Al OOWOWONNNNLY ol o)
™ MM NN AIN AN AN AN A NI RN —
A Cro
o VA VT
\
[ \
\
|
|
\
\
I \
||
‘ uwwwww “ wmw$w
135 130 125 120
\
||
\
\
\
|
\
WLJ
oy T —————
[ [ [ [ \ [ [ \ \ \ \ [
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G

—13.091

smh2-25.002 'H, 500 MHz DMSO-d6

NC
@“@
\
N
H
9j

— LN MO0 OO —OANMNNOS Ao O
VONO CONLN <TANOONWOWOO N QOInHM
QOO O VOO0 MNNOOOWNLN NN
0000 NNN NNNNNNN NNNN
NNV ERN SR V)
\
| )
| |l | l
L : | L : |
1.03 1.04 .0 2.04
\_'_1 [ : | L ‘ |
0.937 0.956 1.01
T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T
ppm 8.1 8.0 7.9 7.8 7.7 7.6 7.5 7.4 73 7.2

2.479

| |

gLy L
1.00%.07 2.04

p o
0.93856 1.01

‘ \
ppm 13 12 11

\
10 9 8 7 6 5 4

Page 131 of 150




Page 132 of 150

JUU UG

S91°0b
0ceoPy
o6V 0v

S6¥°6¢€
599'6¢€
sae

o hl
998'8% L ——

©
?
O
%)
=
(@]
N
T
=
LN
N
S)
o
N
o
<
Tp]
o
N
<
S
(%)

J

anpnrtinn Information: Shen. M.: Driver T. G

\
180

\
200

\
220




anpnrtinn Information: Shen, M.; Driver T. G

Page 133 0f 150

I

<
N
2
N
—

I D A L A D B A D

N

4338
——4.337

—3.383
—2.476

smh2-20.001 'H, 500 MHz DMSO-d6

CL—~<C

toONw <O NOMOTON T —
N <o ——NT—O—O» N
NNWOO N NMNANANN———O H /
NNNN S NN Me
) Y ok
| |
S
0859 388 \
ppm78 77 76 75 74 73 72 71
\
I |
I
\
‘ JL
N e
P L
1.12.97 1.06 3.02
. S
1 0.859.88.29
‘ \ \ \ \ \ \ \ \ \
ppm 13 12 11 10 7 6 3 2 1




anpnrting Information: Shen, M.; Driver T. G

Page 134 of 150

smh2-20.002 13C, 125 MHz DMSO-d6

\ \
220 200 180




anpnrting Information: Shen, M.; Driver T. G

Page 135 of 150

$ Ot INe—MOOMOO N (@) o
N~ NN OO NS N— [o6] N~
N —— Y ¥ ¥ O0© N <
— 00 ZNIN-INNNO O o [qV]
‘ L] ‘ J | ‘
\ \‘ | // ‘
| VA | |
smh2-98.002 'H, 500 MHz DMSO-d6
o
)
MeO H
12a
\
\
\
\

H
\
L L Jk

2.13 0.997 3.03
L L
1 4.09 0.893
‘ \ \ \ \ \ ‘ \ ‘ \ \
ppm 13 12 11 10 8 7 4 1




anpnrting Information: Shen, M.; Driver T. G Page 136 0f 150

oM N~ — QOO <
O N AN OO (o] (o0]
N O oML [o0] o0
© — SO ® - )
smh2-98.002 13C, 125 MHz DMSO-d6 L 1 DN = o
| N |
N | [/
N \\’/ ‘
‘ vJ/ ‘ |
MeO N o
H
12a N
(42] N — QOO <
(€] (qN] [q\i¥pX{eXe)) (€]
N O QoYM ©Q
O — [@Xe)Yep{e] —
LN LN MANIANIA] —
— |/
| | | |
K
| \ |
" d I [' s y " bbbt il !
ppm 150 140 130 120 110
\
I
|
\ \
‘ W
WMWMWWMWWWWWMW R AR RN oA A

\ \
220 200 180 160 140 120 100 80 60 40 20 0




Page 137 0f 150

anpnrting Information: Shen, M.; Driver T. G

—12.801

\ smh2-117 'H, 500 MHz DMSO-d6

/©:N: < >
)
N
Me H
12b

L

2.402

‘ \
ppm 13 12 11 10




anpnrting Information: Shen, M.; Driver T. G Page 138 0f 150

N N—O)<rM—
N3 ©0OMOO o
LN MOMNOMNANIANIAN o
smh2-117 13C, 125 MHz DMSO-d6 = T N
‘ \ | [/
NI
Me H
12b
[ - O < " —
— W O © — "
© © O ™M © o
— o O O © <
o o o o ~
] |
\ I
|
|
|
|
\ LWJ \
‘ ‘ T ‘ T ‘ ‘
Il lopm 132 130 128 126 124
|
|
iy

\ \
220 200 180 160 140 120 100 80 60 40 20 0




anpnrting Information: Shen, M.; Driver T. G

Page 139 of 150

13.058

—2.477

smh2-109 'H, 500 MHz DMSO-d6

© < OLH OO+ 0 N
o0~ naNoOowOIN < <
= RN S \>_©
H
12c
|
‘ |
493 |
|
1.99
! | | |
ppm 8.0 7.5 7.0
|
|
|
j |
©
. L
1.99 1.01
\_'_l \—'—l
1 493
! | | | | | | | | | | | |
ppm 13 12 11 10 9 8 7 6 3 2 1




Page 140 of 150

anpnrting Information: Shen, M.; Driver T. G
ANoO O [(e@Xeo)h g (o))
000 M ONM— —
0 Q oo L0
oo M [@leXopI{e] (@)
LNLN LN 3212 X3V sV —
smh2-109.002 '3C, 125 MHz DMSO-d6 | | L]
| \\\ / //‘
| \“f /
N ::: ‘\ \“ \\H /‘/
\
N
F H |
12¢ |
[q\Jee] (o)) [(e@Xo)R g (o))
o0 00 o OMNM— —
o Q NOEAAS! ol
[e)]ee] o [@leXeopI{e] o
NN LN MmMANIAN —
|| KJ/’/
|
‘\ “ ‘
|| \ \
kb, WA Al W i J mm.mmmummﬂm
| ppm 160 150 140 130 120 110
o

\ \
220 200 180 160 140 120 100 80 60 40 20 0



Page 141 of 150

LIV —

€6l’.
602°2
6S¥'.
€LV L
9812
€LS2
82572
vS L —2

€9572 —
L8S L —

€852
14 WA
78572
98G°2
065’2
S91°8
0818

yz

Y/

»
280°€L ——

Lad d

Supporting Information: Shen. M.: Driver T. G

smh2-99.002 "H, 500 MHz DMSO-d6

N

Cl

T
N
-

—

4.9

7.2

7.8 7.6 7.4

8.0

ppm 8.2

12

ppm 13




anpnrting Information: Shen, M.; Driver T. G

Page 142 of 150

smh2-99.003 'H, 125 MHz DMSO-d6
Cl N
TS0
N
H
12d

—153.122

O—OaIn
OONOO —TO—< O —
O©—< O™ —< e N —
cooNal LNN— OO
MmO olelelelaoTo o)
L] ] AN
\| [/ ]
Vﬁ/
W
N oO—oal LN
[qV] OOOHN O o
. ©—YC @«
| ) elelal ol
LN MMM AN (qV}
‘ |/
| |
‘ I I
\
\ \
e ‘ ‘ ‘WJL«« -
ppm 150 130




Page 143 of 150

anpnrting Information: Shen, M.; Driver T. G

3.447

smh2-152.003 H
500 MHz DMSO-d6

O

Me ”

—12.655
— 2.480

—— 2299

12e

1
0
8
4
42
41
7.290

\
ppm 13 12 11 10 9 8 7 6 5 4 3 2 1 0 -1




Page 144 of 150

anpnrting Information: Shen, M.; Driver T. G

© OO —<Fr—— —
— Ne——WN—ANON O <
R QQUOMOMON N N
O MT—O0DDOD — L
Tp] TONMMMNANANN+— — 8
| /
\ /
| |
| /
‘ \ / ‘
smh2-152.003 'H
500 MHz DMSO-d6
(gN| — — LN —QNI0O AN (o]
S QOOMOM® <. N Me N
m T—OOOOHMHO (o)) — \
< MOMMMNMANIANAN — —
H

I\




anpnrting Information: Shen, M.; Driver T. G

O—O—OO—ON—LN
ON—OOTMMANIO N

OMNNNMNNNNNNO O

\ L]

N o
o T
© o
N N
—

o
Ne—OO<M o
o
N

smh2-179.003 'H, 500 MHz DMSO-d6

Me Me
Me N Me
\> < > +
N
H
12

—O—OO—

——7.227
——6.991
—6.975

NS

1

3.379
—2.482

H
)
N

29’

—2.307

Page 145 of 150

L L L)
0.913 37888 1.82 5.55
L L -
1 3.87 1.83 0.969 6.25

‘ \ \ \ \ \ ‘ \ ‘ \ \ \ \ \ ‘ \ \
ppm 13 12 11 10 9 8 7 6 5 4 3 2 1




anpnrting Information: Shen, M.; Driver T. G

—108.346

smh2-179.003 13C, 125 MHz DMSO-d6

Me Me
Me\©:N Me H
) U0
/
N N
H
12g

19.541
_——14.487

—13.694

Page 146 of 150

—O <L AIO O © ©
—™ LH 00 00 C0 O ™M < <
— 00 MO VDO — ™
) oooons © o0 124"
LA AN A A — o g
N A
\/ \ [/ |
|
|

u kJ : | |

\ ‘ \ ‘ W\ \ \
150 140 130 120 110

l
M | |

\ \ \ \ \ \ \ \ \ \ \ \

220 200 180 160 140 120 100 80 60 40 20 0




Page 147 of 150

anpnrting Information: Shen, M.; Driver T. G

g <TOOINOANOMmOM own
O —OM—OINNMANIOO [qV (e}
i N= AT NN =N e
— QOO NMNNMN’NNMNNMNNMN’NNNO NN
L L] | ‘ |
NN/ N
|
smh2-183.002 "H, 500 MHz DMSO-d6
ISP 4 Me
NN, T, —
NNNNNN N N
7 O
/ / Me H
12h
| |
|
|
|
|
\ |
L T - L
214  1.11 1.08 3.21
— REpE. L
1 2.13 1.05 3.17
‘ \ ‘ \ \ \ \ \ ‘ \ \ \ \ ‘ \
ppm 13 12 11 10 9 8 7 6 5 4 1




anpnrting Information: Shen, M.; Driver T. G

Page 148 of 150

smh2-183.002 13C, 125 MHz DMS0-d6

Me

Me H

MNOTNOM
NONNOM
NN QOWN
—OoONOT
nOANNNN
Al el el

—150.773

—131.723
——130.998
——129.924
—129.279
126.866
124.533

21.802
—17.307

\ \
220 200 180




anpnrting Information: Shen, M.; Driver T. G Page 149 of 150

00 0

o< [gN| Qo OIN< N~
QO o O— OO [o6]
oo ™ NN, — )0 N
—— 00 NN N ™
| | ]
I
| |
R \
smh2-153.003 'H, 500 MHz DMSO-d6
N N
O, v
N
MeO ” MeO A
12i 12§
\
|
\
* Il
U Jw
L R .
3.9 0.385 0.594 2.98
L L
1 0.628.385 0.994

‘ \ \ \ \ \ \ ‘ \ ‘ \ \ \ \ \ \
ppm 13 12 11 10 9 8 7 6 5 4 3 2 1 0




Page 150 0f 150

e ———

anpnrtinn Information: Shen. M.: Driver T. G

0852l — -
1827211 —
692 LL— -3
o
6157021 — e I
oLLv6—— -~
2592t 1]
2€2 10— .
1§2°221 — B
L€y 221 —
(@] _
yE€20EL— — o
£ -~
o
m .
LSP9EL —
€19°9¢ |
S o SY6'8EL —— o
n_u [0} <
L A M —
S +
D Al
: z 9 0€Z°SPL—
=
3 1 292721 —
N L6v°'8% L — o
iR 28v'6v L — o
C L
@ S g
8 z7zz o
2 282951 —
b @ 90€° 251 —
N
<
£
wn

20

80

100

120

140

160

180

200

220




	SI_tgd_benz
	spectra



